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3T 60 T 80 Irsg] 7 ford S =Fifsw |

39 J97-97 H 6 TTG-3709 JHFR-II & J57 8 | I9% Jo7 4 37H] F71 & | 37 J571 &

I 80 & 100 gl 7 ford 577 F1i5w |
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(A) HIT 19T 3 3 HAT 2 37T 7 |

B) HIT 13T 8 M FAT 2T B |

(C) AT 13M 2N T |

(D) YT 13N 2 A1 3 & |

fafafea 9 9 98 gt i gg=e hifse 1

(A) GDPMP = NNPFC + W
(B) NDPpc = NNPpe + g TIca8T

(C) GNPyp = GDPyp + Taesli & 9T I[g 9194 3™
(D) NNPFC NDPMP + W
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Identify the correct equation from the following : 1
(A) GDPyp = NNPpc + Depreciation

(B) NDPpc = NNPgpc + Net Indirect Taxes

(C) GNPpyp = GDPpp + Net Factor Income from Abroad

(D)  NNPpc = NDPyp + Depreciation

11-58/1/1 P.T..
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3. Tmafafaa wuat o afen - e1fispem (A) 3t &rwr (R) | = feu T fommewi #
o Tl foshew g 1
37T (A) : O TR fafa @ arcd siafess Stem &1 srufeafa @ ® |
FRU(R) : O UR i fafa o, aeft sege 9 wem ke o vafd

TG G W USHIR STH BIal & |
IEETR I
(A) ANTHAT (A) 3 SR (R) SHT TcF & 3 SR (R), 31heH (A) Hi
g AT 7 |
(B)  3TfheM (A) 3R ST (R) SHT T 8, oifohd Rl (R), AMHeH (A) I
& ST T 8 |

(C) 3R (A) FF 7, Wlohd R (R) I8 7 |
(D) 3T (A) 3HH 8, Afehd HRUT (R) TF 2 |

4.  “fcT 9 T[T 2023 %, AN Tk TaEES (NSE) o TRl o IR, Th T8
i afy =14, 9 w5 2023 - 9 S 2023, H et €AW fHewmhl (FII) g
T 309 HU i g forsht i T8 off |”
ST TH-¢7 YRd & YA dded T U H g fepa

ST | (Th Tl o Wi & fore @@t fashed &1 =9@ HifSw) 1
(A) =T, Sfee (B) i, shise
(C) =, shise (D) s, Sfere

5. TfIRad W € qgT qd (M) 1 sr@ey fomivar /fasivareti i vgam Hife . 1
(1) 39 9HY % Ueh foig W /11 @1 7 |
(i) S50 GLHR & IE T U g4-HSR bl AfFTId Ta1 T SImar 2 |
(iii) I8 TS TUSE o hrgd Soh & ITE LT g Bieft 1 |

IEEIR
A) @ W 3i) B) (i) 3R (i)
(C) ohad (i) (D)  had (iii)
6. i % AR =] &F GRI TohaT T oA STHNT = |
T TIASH 7 | (fh Tt &l 9 & o @&t faehey &1 =9@ i) 1

(A) &R Y9N, W Hew
(B) T&mad o, df@ 39uim
(C) Ifa e, @ e
(D) &I 394, YRE 39Hi
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3. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1
Assertion (A) : Full employment situation refers to absence of
involuntary unemployment.
Reason (R):  Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

4. “As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a mnet selling off worth < 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
9th May, 2023 — 9t June, 2023.”

The above mentioned transactions will be recorded on side of

account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1

(A)  Debit, Current (B) Credit, Capital
(C)  Credit, Current (D) Debit, Capital

5. Identify the incorrect feature(s) of money supply (M) from the
following : 1
(1) It is measured at a point of time.

(i1) It does not include stock of money held by the government.
(iii) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (1) and (ii) (B) (i1) and (iii)
(C) (1) only (D) (iii) only
6. Total consumption expenditure by households under Keynesian
Economics is a combination of and

Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption

11-58/1/1 P.T..
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(Tep T &1 WA & fore g&t foepew &1 =3m hifse)

S ARRaT ¥ 2 |

7. W (sl hl TgaH HINT I Tl {aehed T I hITT
T STHT | T (80%) STRIET 91T
(20%)
I 5000 4000 (D).
II 4000 .(i1).. 800
$A | L.(GHD).. .(iv).. 5000
farepem
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
8.  YTaW Uqed (BOP) H 31y o1 arcad
(A) TR Titad W SR P
(B) T WIftadi WX =Te] @dT Y
(C) Ut @ Y IS @rar iitaat
(D) WA YTaH W &R Tiieadi
9. el reafTen stdfegawen & o am <fifse 6 :
C =100 + 0-75Y (S&f C = 3UdI 9 Y = 37)
I, = 400 (Ip = @ )
s ek (K) 1 94 B |
(Teh o &1 WA & fore o) faeew 1 =am Fifso)
A 5 B) 4
C) 6 (D) 3
11-58/1/1
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7. Find the missing figures and choose the correct alternative :
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 ().
IT 4000 .(ii).. 800
Total .(iii).. .(v).. 5000
Alternatives :

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000

Surplus in Balance of Payments (BOP) refers to the excess of
(Choose the correct alternative to fill in the blank) 1

(A)  Autonomous payments over Autonomous receipts
(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments

(D)  Autonomous receipts over Autonomous payments

Suppose for a hypothetical economy :
C=100+0-75Y (where C = Consumption and Y = Income)
Iy =400 (Iy = Autonomous Investment)

Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank) 1

(A) 5 B) 4
(C) 6 (D) 3
11-58/1/1 P.T.O.
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10. HH cfifoe foh, T Seuleh dTEEd H YR Fgad T 500 HUS H
3R GdeH guial 8 | O i o1 qed T 1200 HUS 9 LA Jae
T 400 HS B |
T (Merchandise) 3R &l e T HUS BT |
(T=h T &t WA & fore ot fashew &1 =m0 Fifsw) 1

(A) 1700
(B) 750
(C) 1700
(D) 900
11. (%) Uk Flcuqes Adeyaeen & fu fi= u mu Afwsl & Mur W, dred
AT W I TRl 37UTE (NDPpe) % Hod 1 A TEY 3
e i (F g@' 7)
(i) | Sehal SRe TATRM ot fAmior 200
(i) | fr=ta 50
(iii) | 31fcm TR ITUNT = 320
(iv) | earft dsft w1 3uHm 35
(v) | Afom =ie] 399 == 470
ORISR (Inventory) et
(W) (-) 40
(vil) | 3T 60
(viil) | Fg AT T 50
(ix) | focer & 9T g Hh 3= 20

(@)

11-58/1/1
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10. Suppose, the Balance of Trade of an imaginary economy shows a

favourable balance of ¥ 500 crore. The values of merchandise exports are

T 1200 crore and transfer payments are ¥ 400 crore.

The value of merchandise imports would be ¥ crore.

(A)
(B)
(C)
(D)

11. (a)

(b)

11-58/1/1

(Choose the correct alternative to fill in the blank) 1
1700
750
700
900

On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPge) : 3
S. No. Items .Amount
(in < crore)
(1) Gross Domestic Fixed Capital 200
Formation
(i1) Exports 50
(iii) | Government Final Consumption
. 320
Expenditure
(iv) | Consumption of Fixed Capital 35
V) Household Final Consumption
. 470
Expenditure
(vi) | Inventory Investment (Net) (-) 40
(vil) | Imports 60
(viil) | Net Indirect Taxes 50
(ix) | Net Factor Income from Abroad 20
OR
(1) Elaborate the concept of Externalities with the help of
suitable example. 2
(i1))  Define Operating Surplus. 1

P.T.O.
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12. ﬁwﬁﬁmawﬁawm%ﬁm%wﬁ%mﬂaﬁtwﬁﬁm

13. (%) F=AfaRea arfersr 1 g HINT | 3™ & T 200 FHUS H TR TR 99
%o @ i FHif |
37T (Y) T sflaa 39y i s
(THIH) | (THSH) | ¥gft (APC) ygfe7 (MPS)
0 (=) 30 - -
100 | ...l 1
200 | .l 0-8 |
300 | ...l 0-8 |
HAAT
(@) “Tortlt refeaaEen |, YeATieTa Wy ST, TR 9 AT & A g |7
3CITEH, 3T o TSR o &R T 35k JHTE hl AT HIfIY |
14. fafafaa suEt w1 99 qet gra yaTio i .
() hora Sk forell TfoaTen 1 THAT g1 THIhdl TR 3 |
(@) 9z fodfed YAl (Deferred Payments) % A& @ HY o &4 H &R
Tl 2 |
15. T 8 S 2023 % T SHHITS IFH § 3IgYd HHfaIRgd e ol SA-IdH
FERA HINT :
“arta fid o (RBI) 1 @@ fraftor afafd 9 T €9 9 S9dmh 0 g
6:5% W IUiEfid W= o1 Mo fon B | wfufa 3 samee d@ifge Hifa
(Accommodating Monetary Policy) ! A9H o W &IH shigd i & faQ
wagH feran 2 |7
feu U T 3 g gHE o emuR R efaiad 9w % 3w G
(%) I9IH T H T T 3R G I TG T =<1 hIog |
(@) afg o Fufor aftfs 3 3% @ & @ A S, @ ggr mafd & Furfaa
a6t ==t HIfST |
11-58/1/1
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Distinguish between fixed exchange rate system and flexible exchange

rate system.

(a) Complete the following table. Construct/Express the Consumption
function at ¥ 200 crore level of income.

Income (Y)
(in < crore)

Savings
(in < crore)

Average Propensity
to Consume (APC)

Marginal Propensity
to Save (MPS)

0

(=) 30

100

1

200

0-85

300

0-8

(b) “In an economy, ex-ante Aggregate Supply is less than ex-ante
Aggregate Demand.”

Explain its impact on the level of output, income and employment.

Justify the following statements with valid arguments :

(a) The Central Bank is the sole currency issuing authority of an
economy.

(b)  Money serves as a measure of standard of deferred payments.

Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :

“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6-5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”

On the basis of given text and common understanding, answer the
following questions :

(a) Identify and discuss the economic issue indicated in the above text.

(b)  Discuss the likely consequence on money supply if the rate setting
panel would have decreased the said rate.

Page 11
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16. (%) TmfciRaa »i TSea TGl 12T Yoira Wit | affehd hifore, | 3194

IR o 984 H dY T ST ;
(i) RO W ITH AW | ‘ 2
(i)  Toret TRl Hraet bl foshl @ fafers e | 2
(i) YA § SIfctehl &1 1 AicdTiEd B o ol T U5 SR
(USA) §%hR g1 & T Tority w@ma | 2
3T

(@) @) = fau e A w eaYes SemEd i i frefafed W
ThH) 3T H deddd &[T o1 fagawe hifv

(D RIGIEIG] 2
A0 Trer foem . 2
ST ] A (T &rE #13)
5.501 2021-22 E
Z 'gg | v == ®E) 2022-23 _
ppey Il s<c == (BE) 2023-24 N =
3.50 1 o
3.00 1 228 %
2.50 & S o
2.00 - . 2e 3 ? Z
1.50 - S oo ¥ c:g_".',""v—i“i/ /
1.00-@3%%22322 gHH%I% %
0501 .S 5 == 7 7 I
ol IR R R R
s Wl fowm e fien PN EEg  gwfiu RIRIRIG]
T nfafafeat IEETC
(@) () T R’ g e "’ % i 3T wse hifv | 2

FIe: HEIIGT F97 FcT IR ghgniedar & o yo7 &7 16 (i) & €9 |

g/
R Toie o TRt w1 & = Fiflvu | 4

17. (%) Uh fg-8F Hied § 31 % =hig TaTg ! STGUROT 6 689 o sared
%”é'll

3

(@) “Aifgeh Tohal =] 3UE (GDP) i AT H JRdferesh dohel =T 3¢UTG
(GDP) Tereft Trsg hl 3TTieles WG o1 98 dhash & |
F7 39 feU T H ¥ AT 7 2 fREl Q9 weue 9eaTcHe 38
% 1Y U IT hl gfse HIfrT | 3

11-58/1/1 Page 12
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16. (a) Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i)  Interest received on loan. 2
(i1)) Disinvestment receipts from the sale of a government company. 2
(iii) Financial assistance by the Government of USA for promoting

girl education in India. 2
OR

(b)y (@) Study the following chart carefully and analyse the changing
trends in the government expenditure on :

4} Transport 2
(II) Rural Development 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(¥ lakh crore)
b~
2.501 2021-22 o
5.001 MMM Revenue Expenditure (RE) 2022-23 o
igg Il Budget Expenditure (BE) 2023-24 . g
3.50 A g
3.00 - o Qo 7
o5 RN
2.00 - - - @. Q2 = V% %
1.50 - Swpheo I~ %8:7#"‘% %
10l 58 pps S S S8 o - mm / /
os0] S n [T 7 %I% n
' Social Welfare Urban Health Education  Agriculture and Rural Transport
Development Allied Activities ~Development
(b) (1) Distinguish between ‘fiscal deficit’ and ‘revenue deficit’. 2

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 b(i).
Explain the stabilisation function of the Government Budget. 4

17. (a)  Discuss briefly the concept of circular flow of income in a two-sector
model. 3
(b)  “Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross
Domestic Product (GDP).”
Do you agree with the given statement ? Justify your answer with
a valid hypothetical numerical example. 3

11-58/1/1 Page 13 P.T.O.
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18. f=Afafaa st i afew - afyrred (A) 3R &Rl (R) | = feu 7o fashedt o
¥ T fohew 9w
STfHIT (A) : W dEd U9 & rciys fafema 3 38 St wai =i
gfaeue g9 € ek Tz o |

HRU(R) : TSt & 3 3cq1g ure AR TS T gicehal § 4R
ST ATS8E UTod i | Sl T 991 i off |

%qu .

(A)  FfepYd (A) 3R SRV (R) GHI &cd & 3 HR0 (R), A (A) H
HE AT ¢ |

(B)  3TMheA (A) 3R RO (R) THT T 8, Afehd RN (R), AMMHAT (A)
HE AT T 2 |

(C) 3R (A) IcT B, Wfohd ST (R) T 7 |

(D) 3T (A) 3TH 8, Afehd HRUT (R) TF 2 |

19. 1970 % T W, UTfREA™ 3 3794 I T USSR foharm o |
(Th o &t WA & fore ot faeshew 1 =ram Fifse)

(A)  Tafehcar smaTies ataqT datt
(B)  3UMIHI S&ga3Ti daeh
(C) USthTa aqati gt
(D) foesft ==mm
11-58/1/1
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SECTION B
Indian Economic Development

18. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below : 1

Assertion (A) : The excessive regulation of permit license raj prevented

certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses
rather than on improving the product quality and

international competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

19. In the decade of the 1970s, Pakistan nationalized its industries.
(Choose the correct alternative to fill in the blank) 1

(A)  Medical infrastructure
(B)  Consumer goods
(C) Capital goods

(D)  Foreign trade

11-58/1/1 Page 15 P.T.O.
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frfTad sheMl &1 SHYde AT HIMT :

FY7 1 : INUARGG IMET & 3Tad, Ui G (I @, 8 9 dR
a7ife) 1 foepra femam T o |

FYT2 ; VR H ATTNh LT o IhE o N driaes 32 fsifesr f&ai =
HgE T o |

feu U seET % I H, Efaiad # 8 wE) ooy w1 =e hifve
(A) HIT 19T 8 3TN HAT 2 3AEH 8 |

(B) Y 130T 2 MM FA 2T 2 |

(C) YT 13M 2T T2 |

(D) Y 13 2 gHI 3 7 |

e it fob Felafgd 5 8 sF-|1 fashed, Y fauom yoret & s@er
W%ﬂmﬁm% :

(A) TIISH, YSHT, THEHT, SehioT

(B)  3IcqTed, IS, JEEehr, Ifen

(C)  TAISH, TEERI0T, YehfonT, Iias

(D)  JEER, Yehfort, Ufem, faawo

frfrfaa el 1 dfeu - SAfiehed (A) 3R &R0 (R) | = feu mu foehedi #
37T (A) : fava =AUR e (WTO) | I8 et i St 8 {6 a8 gee

TS R MY, U TehalWhl 9T HAH Ufdeen & s=- & fore
T s semuTies sereen Temfug =R |

PRU(R) :  TATE WU & wy-wd, fova 3cared ¥ gfg wem 9 Afvaw
THEIYHT 1 35ead ITAM T et ifard 7 |

IEETR I

(A) 3w (A) 3 FROT (R) gHT T § M HRUT (R), b (A) h
& ST 7 |

(B)  3T¥heM (A) 3R ST (R) THT T B, Wfehd RO (R), AMHH (A) I
TEl AT 7T 8 |

(C) 3R (A) TcF 7, Wfohd 1T (R) T 7 |

(D)  3TYYHI (A) IHH 8, Afehd HRUT (R) TF 2 |

11-58/1/1 Page 16
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Read the following statements carefully :

Statement 1 : Under the colonial rule, basic infrastructure (like
railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development
in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System :

(A) Assembling, Storage, Processing, Packaging
(B)  Production, Assembling, Processing, Grading
(C) Assembling, Processing, Packaging, Transportation

(D)  Processing, Packaging, Grading, Distribution

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : World Trade Organization (WTO) is expected to establish
the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R) : It is imperative to enlarge world production and ensure
optimum utilization of world resources along with
environmental protection.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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FrehRad o ) TR - SRR (A) S B (B) | A Few e feber &
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3T R & fIU SR o 1 39T TR @

FHRI (R) : ORI ¢RI Gk STYMeh =T o fAHio 9 =9 4 9Hq
forehT Hehdehl H HehTUicHes UM feu 3 |

IEETR I

(A) AR (A) 3T SR (R) ST HcT & 3T SR (R), 31fdrepeq (A)
& ST 7 |

(B)  31fheM (A) 3R ST (R) SHT T B, WAfehd ROl (R), AHH (A) I
&l ST Tg7 ® |

(C) 3R (A) TT 7, Wohd ST (R) 7T 7 |

(D)  AMHHAT (A) 3TEH 7, k] RO (R) T 3 |

ffcTRad foshedl # &, faf=afia N ST9R o s/@e 3T 6l T8aH hiT

(i) I HI I IcAGI DI AW oI fcaa™ o g fogque yomedt =i
HIA d JHTET SHHT |

(i) TRl < AT foquH FHETE Blel H IR i gdlcdTigd ST |

(iii)  SHIERI ST SATHOT THAT |

(iv) hEehi I ITeh! 3TN oh! TUETT 9 HET H IR H o O garedniga

AT |
faeey -
A) @) 3 Gi) B) @) I (ii)
(C) (i) 3N (iv) (D) (i) 3 [v)
YA 9 UIhEd™ H ShHST: E| aul H AT IR AL
fpu T 9 |

(TF Tt = W & fotu @&t fashed &1 =@ i)

(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
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23. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below :

Assertion (A) : China has used the market mechanism to -create

additional social and economic opportunities for its

citizens.
Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.
Alternatives :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

24. Identify from the following alternatives the incorrect objectives of

regulated agriculture market :

1)

(i1)

To make the marketing system efficient and effective for farmers
to get best price of their products.

To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :

(A) (1) and (ii) (B) (1) and (iii)

(C)  (iii) and (iv) (D) (i) and (iv)

25. Economic reforms were introduced in India and Pakistan in the years

and , respectively.

(A)
(C)
11-58/1/1

(Choose the correct alternative to fill in the blanks)
1988, 1978 (B) 1991, 1978
1991, 1988 (D) 1981, 1991

Page 19 P.T.O.
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(A) SISt

(B)  srreferan

(C) wdTeH

(D) AT
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fowmg & 17
FIT MY U T o § & & ? 9Y bl o WY U IR hl gfee
HIT |

AT

(@) 37 RO o foErR | gay SAs wro e a3 w6 it Hifa
Hehed, 1956 o d&d (a=IHd foham =T o |
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26. Read the following statements carefully :

Statement 1 : As per the National Sample Survey Organization (NSSO),
unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their
willingness/availability to work under the prevailing
conditions of work and remuneration.

Statement 2 : Disguised Unemployment is generally a massive problem
in a highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

27. Identify which of the following is not a member nation of G20 :

(A) Brazil

(B) Australia

(C) Bangladesh

(D) Argentina

28. (a) “During the colonial period, the occupational structure showed
lopsided movements.”
Do you agree with the given statement ? Justify your answer with
valid arguments. 3
OR
(b)  Elaborate the reasons owing to which the private sector was
regulated under the Industrial Policy Resolution, 1956. 3
11-58/1/1 P.T.O.
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HIT |

1)

(i1)

30. ()
(@)
31. (%)
(@)
11-58/1/1

“Gh TS & oTfde @ wHIies wHEl & fawmT 3 98 wekd foum ® R
IR e 2023 & AIE § I o 70 S, fova &1 aam sifs

STEET Tl TS o T 8 17

=9 g 1970 & Tk | YIS TS Tohod-STcAeh AIid o IRUMHT shl ST
HT |

= 61 3T Hafg W oRIv 31ide & (SEZ) % Y9l &1 == i |

Y dehl g Ioi@ d AT shifore foh FAmafafad sem grg 8 a1 sra

(1)

(ii)

(1)

(i1)

A H, Rd W A foxfiy genmedi % Feam e & fau
- FISHT S8 g HE@Ul heH 33T & |

gfteh — SaEN T fhel g § Tomm i feafa 61 forwerwor
T o foTu Iu=mT fopam S ST Uk Hehdeh @ |

AT

NRd H dfgar fem & Ticanfgd @ hl SAeavaehdT shl Aamen
it |

RPN sEERo T # fafadientor wiafafe™ & fohmal a1 3o
1 Ieid hilNT |
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29. “In India, National Education Policy 2020 has stressed a lot on in-service

training of the teachers.”

(1)

(i1)

30. (a)
(b)
31. (a)
(b)
11-58/1/1

Identify the source of Human Capital Formation (HCF) indicated

in the aforesaid statement.

Elaborate the likely impacts of this source on the economic

development of India.

“United Nations Department of Economic and Social Affairs
indicated that India has overtaken China as the world’s most

populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s.

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China.

State and elaborate whether the following statements are true or

false, with valid arguments :

(1) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources.

(i)  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation.
OR

(1) Elaborate the need to promote women’s education in India.

(ii))  Mention any two examples of diversification activities in the

non-agro processing industries.

Page 23 P.T.O.
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(a)  State any two problems faced by farmers during the initial years of
organic farming.

(b)  “In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”
Justify the given statement.

(a) (1) “Under the liberalisation measures taken by the Government
of India, regulation of industrial sector was extremely
crucial.”

Reject or support the given statement with valid arguments.

(i1) “Despite the implementation of Green Revolution, 65 per cent
of India’s population continued to be engaged in the
agriculture sector till the 1990s.”

Justify the given statement with valid explanation.

OR

(b) (i) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies.

(ii) State the importance of “Growth with equity” as the objective
of Indian economic planning.

Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.
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They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.
It also provides background air quality data needed for industrial siting
and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established.

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB).

(c)  Elaborate any two strategies to ensure sustainable development as

adopted by India.

11-58/1/1 Page 27
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.

This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Read the following statements carefully : 1

Statement 1 : A consumption function describes the relationship
between consumption and savings.

Statement 2 : Consumption function consists of two components —
autonomous consumption and induced consumption.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Identify which of the following is not one of the merits of fixed exchange
rate system. 1
(A)  Ensures stability in exchange rate

(B)  Possibility of under or over valuation of foreign currency

(C)  Prevents speculations in foreign exchange market

(D)  Coordination of macroeconomic policies becomes convenient

12-58/2/1 P.T..
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3. Identify which of the following will appear on the debit side in the

Capital Account of India’s Balance of Payments.
(A) An Indian sending remittances from England
(B) Investing in assets abroad by Indians
(C) An American company purchasing shares of an Indian company
(D)  Export of spices from India
4, Study the following figure carefully and choose the correct alternative to
fill in the blank : 1
Balance of
Payments
Account
|
1 1
Current Capital
Account Account
|
Trade in Transfer
merchandise Payments
Alternatives :
(A) Investments (B) Trade of Services
(C) External Borrowings (D) External Assistance
5. Read the following statements carefully : 1

Statement 1: Economic territory and political frontier of a nation are
one and the same thing.

Statement 2 : American Embassy in India is a part of the economic
territory of India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D) Both statements 1 and 2 are false.
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6. Tffad el 1 STHYE® LT hHINT -
H97 1 : Tg 98 9] 8, o8 AR fafwe o d1e o €9 § @R o
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HYT2 : TG A TTIHAIA o GIat TAN ! THET i g [haT T |
feu U seEl % A H, faiad # ¥ wE) faesed w1 =e hHifv
(A) YT 19T 2 AN FHIT 2 376 7 |

(B) I 13EI N FAT2TT 2 |
(C) HIT 13N 23 T B |
(D) YA 1 3R 2T 9T B |

7. UH AIfGU fF T wreufe redfegaeen #, TRR UM = T 500 HUS qAT

w7 3N Ygfd = 0-8 7 | A1 1efaeen & fofv s=1d ha B |
(fh T 9 = fow @&t fashew &1 =@ <hifo)

(A) 500+ 0-8Y (B) (=) 500 + 0-8Y

(C) 500+ 0-2Y (D) (=) 500 + 0-2Y

8. fmafafgd et =1 stewm Fifvw : 31fdesed (A) 3R wrRur (R) | = few 7w
fohedi o @ Tt famhed giT -

STHYT (A) : HHE s=d Igrd (MPS) I TUehad oI 35 8 Fohdl @ |

FRU(R) : AT o THER W, g9d I 8l & |

ooy

(A) IAYHI (A) 3 SR (R) HI T & TN RO (R), AMHT (A)
&l Iy Hdl 8 |

(B) AR (A) IR ST (R) Al TcT 8, Afhd RO (R), AMTHAT (A)
1 &l AT FgT a1 B |

(C) IR (A) T B, Wihd RO (R) I8 3 |
(D) 3R (A) T 7, Afehd I (R) T 3 |
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6. Read the following statements carefully : 1

Statement 1: Money is a commodity which is generally accepted as a
medium of exchange.

Statement 2 : Money solved the problem of double coincidence of wants.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B)  Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D)  Both statements 1 and 2 are false.

7. Suppose in an imaginary economy, autonomous consumption = ¥ 500 crore

and marginal propensity to consume = 0-8. The saving function for the

economy would be

(Choose the correct alternative to fill in the blank) 1

(A) 500 + 0-8Y (B) (=) 500 + 0-8Y
(C) 500+ 0-2Y (D) (=) 500 + 0-2Y

8. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below : 1

Assertion (A) : The maximum value of Marginal Propensity to Save
(MPS) can be unity.

Reason (R): At the break-even level of income, savings are zero.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

12-58/2/1 P.T..
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9. Identify the incorrect statement with reference to Cash Reserve Ratio
(CRR) :
(A) It is a certain percentage of demand and time deposit liabilities
that every bank must keep as cash reserves with the Central
Bank.
(B) It is fixed by the Central Bank.
(C) It is not binding on the commercial banks.
(D) It is a tool used by the Central Bank to control the credit creation
in the economy.
10. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : The equilibrium level of income is determined, when

ex-ante spending and ex-ante output are equal.

Reason (R): The equilibrium level of income may or may not be the

same as the full employment level of output.

Alternatives :

(A)

(B)

(C)

(D)

12-58/2/1

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

P.T.O.
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Jrora
(@) “Hg1 1 qoagrE fopet Tsg o 37 ol AicdTied o Hehal & |
= dehi o A1 U MU o w1 Gud A1 WA HIif | 3
12. = fu MU SRSl & SMYUR W, 1Y AN W Fehal TSI 3G (GNPpe) &
Hed I e hIT : 3
s il (¥ g@' 7)
(i) A9l & oA 2,000
(ii) EXRIECRIE 700
(iii) e 500
(iv) JAfaaia @y 300
(v) feor gSft 1 3awm 200
(vi) ATHTR 150
(vii) | facsn @ ured 3g Wied o™ (=) 50

13. T shicqeh degaeen & fiu, I8 9F «fifSe ff @R T 10,000 U i
TS glemma FHaw sl | Adeaeen # Afdieh ™ &1 80% 3TN Fidl & |
Aferaedt H A H glg A Iqeh NIEY IUATT = H Fhg H1 HTeheH

i | 4

14. (%) “afg gof TR T W, ifom aeqent i awdfas @i Afaw aegett &
qfIeh 3CATe & A B, A1 399 HIaEE! (Inventory) 1 3UTEd =™
B HhaT 8 |7

7 379 feU 70 HIH @ TgHd g ? 39 ST ok gudd § HI hRu AT | 4

AT
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11. (a) “Accommodating transactions are undertaken to maintain stability
in the Balance of Payments Account.”

Justify the given statement with valid explanation. 3
OR
(b)  “Depreciation of currency may promote exports of a nation.”

Defend or refute the given statement with valid arguments. 3

12. On the basis of the data given below, estimate the value of Gross

National Product at Factor Cost (GNPg() : 3
S.No. Items Amount
(in < crore)
i) Wages and Salaries 2,000
(ii) Rent and Interest 700
(iii) Corporate Tax 500
(iv) Undistributed Profit 300
(v) Consumption of Fixed Capital 200
(vi) Dividend 150
(vii) Net factor income from abroad (=) 50

13. For a hypothetical economy, assume the government increased an
infrastructural investment by ¥ 10,000 crore. 80% of additional income is
consumed in the economy. Estimate the increase in income and the

corresponding increase in consumption expenditure in the economy. 4

14. (a) “If actual demand for final goods falls short of the actual output of
final goods corresponding to full employment level, it may lead to

an unintended accumulation of inventories.”

Do you agree with the given statement ? Give valid reasons in

support of your answer. 4

OR

12-58/2/1 Page 11 P.T.O.



(@) fm=faRea arferst @t qU AT | 3™ % T 200 S H TR TR 3990
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(FHIsH)| (T HIsH) (APC) (MPS)
0 (=) 50 — —

100 | e, 1|

200 | e 34 | e,

300 | e 203 | e

15. W fiFd o TR & dfohT TiFed o Ja9 ol Hgwqul Sl il 3 |
et fiord s grr fohe e 3wt i 1 ==t i |

16. (%) (1) IR TAF B T AU L oh HEY I T8 T |
(i) TRRI FIC o 3T o AUl g9 sl STEAT T |

arora
(@) () "W e fh e Feafe rdegaren & fou fafaftaa Afws
q&d feR MU %
e % (¥ ;Z?@' 7)
(1) Ex@snie 1,200
(ii) TSI =99 3,700
(iii) R e 2,000
(iv) U7 Shl THA 145
(v) ESIGEZE 500
(vi) [EIEERY 120
(vii) TS bl HITd 1,070
TSI ©12 9 USRI =1¢ shl TUET i |

(i) eI JEUM 99T "S- Icdled H 3-at T hifvu |
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(b)  Complete the following table. Construct the consumption function
at ¥ 200 crore level of income.
Income (Y) | Savings (S) | Average Propensity Marginal
(in < crore) | (in Tcrore) | to Consume (APC) | Propensity to Save
(MPS)
0 (=) 50 — —
100 | ...l 1
200 | ...l 34 |
300 | ...l 213 |
15. Reserve Bank of India undertakes the important function of managing
the government’s banking transactions.
Discuss the above stated function performed by the Reserve Bank of
India. 4
16. (a) (1) Distinguish between direct tax and indirect tax with the
help of suitable examples. 3
(ii)  Explain the ‘redistribution of income’ objective of the
Government Budget. 3
OR
(b) @) Suppose the following data is presented for an imaginary
economy : 4
S.No. Items Amount
(in < Crore)
(1) Tax Receipts 1,200
(i1) Revenue Expenditure 3,700
(iii) Non-Tax Receipts 2,000
(iv) Recovery of Loans 145
(v) Capital Expenditure 500
(vi) Disinvestment 120
(vii) Interest Payments 1,070
Calculate Revenue Deficit and Fiscal Deficit.
(ii)  Differentiate between public provision and public
production. 2
12-58/2/1 Page 13 P.T.O.
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IYTT Y H JHIIId S Fehd & | 3H THR o JHTG s IR A SAH B &
g TSI 3T T ATehai ohid WY 3o &H W el W@ 91dl g | AAEd 3
STEIATC had g a7 I STl HehicHeh AT TehRIcHeh & Tehdl B |

39 HeY H, Ty TTEA Uiy Aqead gHTad & % folg shieH
TeI-FaRuT 1 T AgqUl 3T o €4 H IUAN i I GIE od & |

Ha Jod-HaRoT A1t Icasi W ooh TR I hH e W dfedet
Tt MBI NE IcdsH bl I 1 <hl Il shidm 8 | shred &, U9 99,

Fh! o, 3TME S TTEET o AIEqH ¥ ITAMEAT 39 YhR hl FhRIcHS STEIdlsti
I TUT - Tt GHA qobrieh shl A JTUE B T FoId ¢ & |

feu U TRy qun g T & oaR R, Fefaad gt & 3w G

(i)  STErareT i giTiyd hifse |

(i)  HhRIcHS o ThIIcHh STRIAIST o HET 3T T HiT |

(iii) foeaR @ SaEy fob HeA gea-gRer o Y g R AedTted fhar [T

=M |
LCLCRC|
TR srfeier ferera
18. fofesr s s, vRa s foeshi s d . <Al Siget s fomiward

off |

(fh T 9 & fotw @&t foepe o1 =9 Shif)
(A)  IE 3TEH, AR 9 Yeh bl Sfdeemcge =t
(B) WA o Taid 9 3mmd W fafesr wwifer
(C) ¥Rd ¥ IV fovd & AT g =mR
(D) e fata SAfee
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Read the following text carefully :
Decisions taken by factors of production in the production process
often may affect the stakeholders indirectly. Such impacts at times are
huge but are not accounted for, while estimating national income.

Economists call them as externalities and they can be positive or

negative.

In this regard, many economists suggest carbon pricing as an

important tool to ensure ecological balance.

Carbon pricing tries to control greenhouse gas emissions by either
placing a fee on emitting or offering subsidies on lesser emission.
Through instruments like carbon tax, green cess, eco tax, etc. economists
suggest moving towards greener technology eliminating such negative

externalities.

On the basis of the given text and common understanding, answer the

following questions :
(1) Define externalities.
(i1))  Differentiate between positive and negative externalities.

(iii)  Elaborate how and why carbon pricing should be promoted.

SECTION B
Indian Economic Development

During the British rule, India’s foreign trade had various features except

(Choose the correct alternative to fill in the blank)
(A)  Restrictive policies of commodity production, trade and tariff
(B)  British monopoly over India’s exports and imports
(C)  Free trade from India to the rest of the world

(D) Large export surplus



19.

20.

21.

L
| O

% RV FH o fig SHEe gfg @ @ fEha w0 § aem

73T A1 |
(fh T 9 & foiu @&t foepe o1 =9 Shif)
(A) 3% gar
(B) T Ry ifd
(C) W8M g ATEhideh ShIld
(D) fomiy anfeler &=
MY fehIehtr Ueh Hewaqul 3TTfdfes foeiem 3ev 7, S T higd 3 |

(Teh T A & foie @&t faepey 1 w9= hifs)
i) el SEnfiehl i A
(i) T 9 HUd o uH foaao
(iii) | ST H FhRIcHS TR A

forepey
(A)  hdd (i) (B) (i) 3 (i)
(C) (1) R (i) (D) (), (ii) 3T (iid)

=<9 H Faum g SfEifes o i 9i$ 1978 W @1 fohu MU i guwi |
QIS ST Tehd! &, STal |
(Teh T A & fore g&t fapew 1 wr9= Fhifs)

() IR¥ ¥ BN, faceht =mm g fow &= # gar 3% e e
i) et gou-fafor & fifq sraars g off
(i) TR A fomiy snfde &= &t fifq w1 © = fear o

ﬁ?@q :
(A)  <had (3) (B)  ohdd (ii)
(C) (i) 3 (i) (D) @), (i) 3 (iii)
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China was able to control its rapid population growth rate owing
to

(Choose the correct alternative to fill in the blank)
(A)  Economic reforms
(B)  One-Child Policy
(C)  Great Proletarian Cultural Revolution

(D)  Special Economic Zones

Modernization is an important economic planning objective that focuses

on

(Choose the correct alternative to fill in the blank)
(1) Adoption of innovative technology
(i1))  Equal distribution of income and wealth

(iii)  Bringing positive changes in the social outlook

Alternatives :
(A)  Only (1) (B) () and (ii)
(C) (1) and (ii1) (D) (1), (i1) and (ii1)

The present day rapid industrial growth in China can be traced back to
the economic reforms introduced in 1978, where

(Choose the correct alternative to fill in the blank)

(1) initially reforms were initiated in agriculture, foreign trade and

investment sectors
(ii)  the policy of dual pricing was adopted

(iii) the Government revoked the policy of Special Economic Zones

Alternatives :
(A)  Only (1) (B)  Only (ii)
(C) () and (i) (D) (1), (i1) and (i11)



22, Tl T UH urelt 7, S uTifedfae aqed i gaeifua S,
ST @ 9 gfg T | T gl @ |
(TF T WA & forw @&t faspew 1 =am hifso)
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(C) TEEHS (D) & (Multi-layered)
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FYT 1 ; R, ThEdH o = shl Hifceh Grame TUaaisti § dl bl AT
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FYT2 ; ARG 9 YIhEdH 2l 4 Tsh g1 Hoil &7 fowpfta 3 W 31fees oo
e am |

feu U oAt & Itedres 1, f=feifga # ° @& oo w1 w=w Fifve

(A)  HIT 19T 8 N FHIYT 2 30T 7 |

(B) T 130T 8 M AT 2T 2 |

(C) YT 1R 2T aF % |

(D) YT 1R 2 gH 3EH B |

24, WG Yot TEI07 % @Al hl gg= hiee g ek ToH 9 o e @@t foehed 1
T ST |

foren w

IEETE

(A) T WY foemaal 7y
(B) dhrileh W 9 JH T oI

(C) T WF 9 IH W

(D) O W T 9 TG |
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farming is a system that is helpful in restoring, maintaining
and enhancing the ecological balance.

(Choose the correct alternative to fill in the blank)
(A) Conventional (B) Organic
(C) Chemical (D) Multi-layered

Read the following statements carefully :

Statement 1: India, Pakistan and China have similar physical
endowments, but totally different political systems.

Statement 2 : Both India and Pakistan laid great emphasis on creating
a large private sector.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify the sources of Human Capital Formation and choose the correct
alternative to fill in the blanks.

Expenditure
on Education

Expenditure
on
Information

Sources 0
Human
Capital

Formation

Expenditure
on On-the-
job Training

Alternatives :

(A)  Expenditure on Health and Expenditure on Schools

(B)  Expenditure on Technology and Expenditure on Knowledge
(C)  Expenditure on Migration and Expenditure on Knowledge
(D)  Expenditure on Health and Expenditure on Migration
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26.

27.

L
| O

Hiad [ # feu U Hfieni o YR ¥ icw 11 | T TC %1 I Tehid 6l Fal
Jga hIfT

HIcTH [ HieTH 11

1. | €5 &l gHM H1 ATt () | FrafE aqaarf

2. | fAwioT gy (i) | STeRiehes feaTet g

3. | Tafaer srfyman (engineer) (111) - fnfaa
forepea -

(A)  1-(); 2—G1); 3—(iii) (B)  1-(ii); 2—(1); 3—(iii)

(C)  1-Gii); 2—(ii); 3—@1) (D) 1-Gii); 2—(1); 3—(ii)

3Tfofeh GURT 1 AT L o IUUA, ITfehea o SR § foepd |
Hel T v R 7 |

(feh T WA & fotu @&t fasheq =1 =3m hifs)
() 3N &3 # AfeRr veEH
) foewi @ fodwor w ercafees Fafean
(i) T Aferan

%IW‘? :
(A) ()3 (i) B) (i) 3 (iii)
(C) (D), (ii) 3T (iii) (D) (1) AR (i)

fafafga oMt =1 dfeu : arfieem (A) 3R & (R) | = few U faemedt §

T wdl foshew g

SYFHYT (A) : & o {1 §, IR 1efeTaee UTEH Tafg ht Tuen &1
AT R G 8 |

HRU(R) :  UTTEH Tdfg & acad 8, T UHl feufa Sgf o srefeuasen
arfafes TR 3Scum fope fomm oaferss ageti SR Tansti o

IcqTed i H 9 g |
ooy
(A) IYH (A) 3 SR (R) HI T & 3TN SR (R), AMH (A)
&l ST KT 8 |

(B) 3MYheH (A) 3T RO (R) HI T &, Afehd SR (R), MHAT (A)
I T AT T w1 R |

(C) 3 (A) FcT ], Afehd R (R) TEH 7 |

(D) 3R (A) T 7, Afehd IO (R) T 3 |
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From the type of workers given in Column I, identify the correct nature of
work in Column II :

Column 1 Column I1
1. Cement shop owner (1) Regular salaried
2. Construction worker | (ii) | Casual wage workers
3. Civil engineer (ii1) | Self-employed
Alternatives :
(A)  1-(1); 2—(i); 3—(iii) (B)  1-(ii); 2—(1); 3—(iii)
(C)  1-(ib); 2—(11); 3—(1) (D) 1-(ii); 2—(1); 3—(ii)

After the implementation of economic reforms, Pakistan experienced
slowdown of growth due to various reasons including

(Choose the correct alternative to fill in the blank)
(1) Volatile performance of the agriculture sector
(i1)  Over-dependence on remittances from abroad

(iii)  Political instability

Alternatives :
(A) (1) and (ii) (B) (i) and (1i1)
(C) (), (11) and (1i1) (D) () and (iii)

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : In the recent past, Indian economy has been facing the
problem of jobless growth.

Reason (R):  Jobless growth refers to a situation where an economy is
able to produce more goods and services without
generating additional employment.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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28. (%) “TI9-HEEdl TE UM & H AIreR-ofides fowm % faw diewmsd
TGH L 8 |7
Jg TsARt o A1 feu MU sem i gfse i |

HAAAT

(@) “9Rd &R 4, HY o yormet wr JEiv &l § odedl Icdred
Tfafafern o a1y Tfgd s & fIU S sheq 38w 1
FIT 39 feU MU hed § A § 2 3794 I & GHYA H hI < 9Y HA

&R |

29. feu wu fa hi =amEn HifST qun 3@ uiifeafas 3T9er 999 9 U o fow fond
Teh WHITG skl s Hif |

| i

12 : FEfcTRaa I Fact greaTiera aiemiefa & 1o7g Y97 G837 29 % T W a |

IO T o 389 k! ITH i o 7T fohal @ WHTaRIT /1 oo <hifau |
12-58/2/1

3



i

I=ld
28. (a) “Self-Help Groups provide stimulus to socio-economic development
in rural areas.”
Justify the given statement with valid explanation. 3
OR
(b)  “The Government of India has taken various measures to align the

agricultural marketing system with the growing production
activities in the rural areas.”
Do you agree with the given statement ? Give any two valid

reasons in support of your answer. 3

29. Interpret the given picture and explain any one strategy to control it from

becoming an ecological disaster. 3

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 29.

State any two strategies to achieve the objective of sustainable

development. 3

12-58/2/1 Page 23 P.T.O.



30. (%) Toifesr omEA & GRE WA $N &F hl TdaH sHH It foheal e
6 ==t hif |

HAAAT
(@) 1991 % o7 ERI o SNF TR g IRW FRU U ot =aeen #
FUR & Fatad fopegl gl SgRIhT U™l 1 ==t i |
31. “forelt g o WA IS I 9 sriieek fohE o Wed gAToRe Weded gidl
% |’7
HT TSR o |1 QU 7T e i gfee Hifu |
32. = fou MU ATHhsl o MYR W, YRA o 9 H 3IdTed 9 USHIR & &R
2018 — 2019 ¥ TR AR Thel Yo (A (%) & &F IR

o FHT JoF FeT 7 IrEH HIIIT HT AR
YRa | #7 | Tk | YRa | T | wileed
SN 16 7 24 43 26 41
ITM 30 41 19 25 28 24
qard 54 52 57 32 46 35
FA 100 | 100 100 100 | 100 100

HiT: T4 [91E RT12 2019 : TRET 37 I1afee & T9& d@ab, 2019

33. (%) 1) “Aftar w feht w1 0 fafia F=r & €9 0 wRE 8, I8 918
sftrep fogeh € 17
FT I8 TR/ & | $REd 8 ? 39 3T o 0 §
3y SR Y |
(i) YA H SO & 3Tehal & fohegl 2 Eidl ol ool hIfST |
(iii) YRG § Afger fefm =1 Wicangd o <hl 3Tavdehdl i foarX ¥
T T |
JAAqT
@) () gl e < gan °@, g @ | snfde wfafafert @ @ i
wrfigrl <t sfereh it 8 17
fau Mo oM i gfee i |
(i) Y=o SUSIT ol gierfeg shifu | foreft 291 & Icured 9 Uem @@
3ok JUTAl Sl Ieoig HIT |

12-58/2/1 Page 24




i

I=ld
30. (a) Discuss any two factors that lead to stagnating Indian agriculture
sector during British rule. 4
OR
(b)  Discuss any two liberalization measures pertaining to the tax
reforms, introduced by the government, during the economic
reform process of 1991. 4
31. “There exists a positive correlation between human capital formation and
economic growth of a nation.”
Justify the given statement with valid explanation. 4
32. On the basis of the data given below, discuss the shift in output and
employment sector-wise, in India and China : 4
Sectoral share of Employment and GVA (%) in 2018 - 2019
Sector Contribution to GVA Distribution of Workforce
India | China | Pakistan | India | China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100
Source : Human Development Report 2019 : Key Indicators of Asia and
Pacific, 2019
33. (a) @) “Amita is a regular worker in a private firm that employs
twelve hired workers.”
Is she working in the formal/informal sector ? Give valid
reasons in support of your answer. 2
(ii)  State any two sources of data on unemployment in India. 1
(iii) Elaborate the need to promote women’s education in India. 3
OR
(b) (1) “The participation rate of people in economic activities in
rural areas is more than that in urban areas.”
Justify the given statement. 3
(ii)  Define disguised unemployment. State its implications on
output and employment in a country. 3
12-58/2/1 Page 25 P.T.O.
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o ST A H @ TE usel Aol W W@ 3T wiHa §, T wioss # fowa
s <1 foo e gnft |

o EQ Uft H, YT B H 9 39N fou ¢ § W IAUR TSH % EEiiied
B | graifes, 399 s Sgm @ ot wrfierd) <6 3efie < sra |

o Tt gvft 4 uw wft I W st TR B, e I o o T
& <l et 9 3TH W R B |

feu T e qen W wHE & YR W, Fefdfaa ae % 3w A

(i) “9Rd WeR 4, e faem & yriyes awi § sfenfies fowm o
TSl & o T St Yfiep W o fezm o |7

39 I THIT H BN <d g, 39 oA hl Yfed HIT |

(i)  frenfies fifd Tehed, 1956 o FATIR fafsa AT § 3TN o afiehtor
1 FI@T Jeqd i 3R ==t SIS |
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Read the following text carefully :

India’s industrial policy since independence has been shaped broadly in
terms of the Industrial Policy Resolution of 1948. It emphasized on the
sole responsibility of the government in the matter of promoting,
assisting and regulating the development of industries in the national
interest. It envisaged an active and dominant role of public sector.

The next Industrial Policy Resolution was placed before the Parliament
by the Prime Minister on 30t® April, 1956. It suggested that, “There is a
need for adoption of the socialist pattern of economy as the national
objective, along with the need for planned and rapid development. It
required that all industries of basic and strategic importance, or in public
utility services, should be in the public sector.

Other industries which are essential and require investment on a
massive scale (which only the State could provide) have also to be in the
public sector. Thus, the State has to assume direct responsibility for the
future development of industries.”

This Resolution classifies industries into three categories :

. The first category given in Schedule A, consists of industries the
future development of which will be the exclusive responsibility of
the State.

o In the second category given in Schedule B, are industries which

will be progressively State-owned. However, in them, private
enterprise will also be expected to participate.

o The third category comprises all the remaining industries, the
further development of which will be left to the initiative and
enterprise of the private sector.

On the basis of the given text and common understanding, answer the
following questions :

(1) “The Government of India, in the initial years of economic
development, emphasized on a greater role of the public sector in
the industrial development.”

Justify the statement, giving reasons in support of your answer.

(11)  Owutline and discuss the classification of industries into various
categories as per Industrial Policy Resolution, 1956.
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HTHT=T 4397 ;
AE1eTIGd 19597 #1 STYEH 16T 37K 37T JIer7 Hilorg :

(1)
(ii)

(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

39 J97-97 4 34 F97 & | @4t 397 SrfAard & |

T8 Jo7-97 g1 @vel 4 1591/ 8

&S & - THIC I

GUE G - YRAT 3% fahra

9 J97-T7 H 20 TglahetiT JhR & Jo7 & | TAF T 1 H%F F1 & |

3G Fo7-97 H 4 TY-IT09 FHR-1 & J97 & | T3% F97 3 37 H1 8 | 57 971 &

ST 60 & 80 sgl 7 for@d S Fiisw |

5 J97-97 7 6 TH-FHIT FFR-I & 97 & | TA% Fo7 4 3H] F1 & | 37 I97] &

I 80 & 100 iegl 7 for@d 573 =1iEw |

39 J97-97 H 4 F-FRIT YHR & 97 8 | I9% Y97 6 37H] &7 3 | 37 F571 & I

100 & 150 =g H for@ 773 =fzw |

Jcdeh ¥97 & @Y1 YT 3 IR UF GIY for@ S =IET |

$T% AR, S § 19 gleeaneaa [gndEl & [7q Biel aor T 371G STIRT

W%%FWWWWW@WW?/WW%WWWWWWﬁﬁ
/

J97-97 § HIF GHY faheq T8 & | TET F& Fo71 7 Tk 1aeey & Jaem

T 8 | 37§99 § & @acT U &1 J97 7T I forEr S |

WU &
Tufte e
Frafafga ot =1 ufew : Afhem (A) 3R R (R) | A= feu v fospedi o
T TEl faesreq 1 w94 hifvu 1

BT (A) : T €4 § SUSHIN o H&W Ak BId 8, S T=ield welgll &
W HE HH TP T4l 7 |

HRU(R): T o YOI USHTR TR W Aoz s I gt @ |

ey

(A)  2AHYT (A) IR FR (R) A T 8 AR HRI (R), TR (A) HI
& SIS HLaT B |

(B) 3N (A) 3R SR (R) TAI I &, Wbt BRI (R), AR (A)
&1 &l ST FgT a2 |

(C) IR (A) T 3, Wlhd HRUT (R) I8 3 |

(D)  AfheH (A) 3T 8, AAfehd SR (R) T 7 |
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A

Macro Economics

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : Voluntarily unemployed people are those able bodied
people who are not willing to work at the prevailing wage
rate.

Reason (R): There exists zero involuntary unemployment at full
employment level of equilibrium.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13-58/3/1 P.T.O.
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2.  UgEnu fob e srefeeren & gey ¥ ffcifad O @ wl9-a1 e ormew ® | 1
(A) Thd TSR 3G (GNP) 1 Tohed WG] 391G (GDP) W Afeshal HYd
g |
(B) Hhd W 391G (GDP) i Tt TSI 3G (GNP) T ATE=hdl GH
g |
(C) §ha U IAE (GNP) T Thdl B 3G (GDP) H TWHAT €9a
g |
(D) Hhd TN 3@ (GNP) T Thal =g 3cd1g (GDP) &1 a7 9cd
I (0) % S BT & |
3.  Toret srefoaen 4 whifeit ofaUel q9 3ufedd giaT 8, 9& U TSR &R W
B | (Feh v W & e =&t fashed 1 == ifs) 1

(A) STl HY AT > GTfd T8 A1
(B) dWfdeh THY AT < AT S8 AT
(C) dSTEdfdes THY | < GUTferd T8 AT
(D) dRdfaeh THY AT = GUTfed GaU [

4. 19 Tg, 2023 Pl I YRAT 76 & (RBI) o AT b o AN :
“qTed 1 foreeft g1 wer (STRfad) emar el dedrg H IfgH™ g1 2 qu1 98
$ 600 3T o ITIATHA TR % il Tgd T 3§ |7

ST feufd wid & Y dqed @ Rt
U | (feh Tl 1 Y & e o) fashew o1 =@ difse) 1
(A) hise, Ihg (B)  shise,
(C) sfee, (D) Sfee, 3fg
5. TAfcIfaad el ol SaHyas afeu : 1

Fo71: ANfAT U 9 gr@ Fmio ufshan # omcdeh (SIGhH) T99 BT & |

Fg72: Tordt FfcgaTa 1 H<¥ o grg A gfskam &m0
HEweqUl i T B |

feu U el & I °, =faiad # 4 @l faehed o1 ==H hifviw

(A) T 19T 3 AN HIT 230 8 |

(B) U 130T 2 MM FA 2T 2 |

(C) YT 13 2gHI TcF % |

(D) Y 13 2 gHT WA 7 |
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2. Identify which of the following statements is incorrect with reference to

an economy. 1

(A) Excess of Gross National Product (GNP) over Gross Domestic
Product (GDP) is possible.

(B) Excess of Gross Domestic Product (GDP) over Gross National
Product (GNP) is possible.

(C) Equality between Gross National Product (GNP) and Gross
Domestic Product (GDP) is possible.

(D)  Sum of Gross National Product (GNP) and Gross Domestic Product
(GDP) is always equal to zero (0).

3. Inflationary gap in an economy may exist when at full
employment level. (Choose the correct alternative to fill in the blank) 1

(A)  Actual Aggregate Demand > Potential Aggregate Demand
(B)  Actual Aggregate Demand < Potential Aggregate Demand
(C)  Actual Aggregate Demand < Potential Aggregate Demand
(D)  Actual Aggregate Demand = Potential Aggregate Demand

4, According to the Reserve Bank of India’s (RBI’s) Statistical Supplement
released on 19th May, 2023 :
“India’s foreign exchange reserves grew for the third straight week and
reached near an approximate level of $ 600 billion.”
The above situation will the side of Balance of
Payments account of India.
(Choose the correct alternative to fill in the blanks) 1

(A) Increase, Credit (B)  Decrease, Credit
(C)  Decrease, Debit (D) Increase, Debit
5. Read the following statements carefully : 1

Statement 1: Reserve ratio and Credit creation process are inversely
related.

Statement 2 : Central Bank of an economy performs the vital function of
controlling the credit creation process.

In light of the given statements, choose the correct alternative from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

13-58/3/1 P.T.O.
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6. WﬂﬁﬁwﬁﬁwaﬁW%adﬁw%dwﬁ%mww
L Gl B |
(Teh T 1 W o 1T T@1 forshed 1 =3 i)

(A) 9T T, Al
B) fed W =, afg
(C) HGhI =3, Sl
(D) L I G, HH
7. S TS AfCTeRT I G0 B o T @ fashew 1 =9 IR
Th a7 Ey STRIETT 17714
90%) | 39T (10%)
I 2000 1800 200
II ). ..(11)... 180
Fd L) |G 2000
forepey -

(A) 2000, 1620, 20000, 18000
(B) 1800, 180, 2000, 18000
(C) 1620, 180, 2000, 18000
(D) 1800, 1620, 20000, 18000
8. Wi I # feu 7w seMi @ wicw II § fdU Tu Hafoq sregi o @19 Tgt I hi
YgaH <hIfT

HicTd I HicrT 11

1. | foes & ferelt T & S gai () | oA wed

2. | fogsh qereti o gl g w1 ggr o | (D) | 3raweeH
oA H ! i TR i A

3. | Tonelt Trsg <k g9 Tia 9 goa oTma & | (ild) | YW |gad
HEY AN

4. |faeh g R faff@ @ s a@rR s | (v) |59 fafme g ot
THHATA TTTehR

foeped

A 1-30) B) 2 - (iD)

(C) 38— (i) (D) 4->Gv)
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6. In order to discourage any fall in Aggregate Demand, the Government of
India may the .
(Choose the correct alternative to fill in the blanks)
(A)  decrease, repo rate
(B) increase, reverse repo rate
(C)  decrease, government expenditure
(D) decrease, tax rate
7. Choose the correct alternative to complete the given schedule :
Round Deposits Loans Reserve Ratio
(90%) (10%)
I 2000 1800 200
II (). .G(1).. 180
Total .G .(1v) ... 2000
Alternatives :
(A) 2000, 1620, 20000, 18000
(B) 1800, 180, 2000, 18000
(C) 1620, 180, 2000, 18000
(D) 1800, 1620, 20000, 18000
8. Identify the correct pair of statements given in Column I with the related
terms in Column II :
Column I Column I1
1. | Remittances from abroad to the nation | (i) | Accommodating
Transaction
2. | Government’s policy of decreasing the | (ii) | Devaluation
value of the nation’s currency against
foreign currencies
3. | Difference between visible exports and | (iii) | Balance of Payments
visible imports of a nation
4. | Government as sole authority of (iv) | Flexible Exchange
determining foreign exchange rates Rate System
Alternatives :
A 1-@0) (B) 2 — (i)
(C) 38— (i) (D) 4—(@Gv)
13-58/3/1 P.T..
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9. Trfafad weHi i SIHYE® e :

FI71: A H INGdA (AY) o d99 § 399 § qiEad (AC) i fR T b
O] ITHNT T Teh Hiehl @1 gam @ |

HY72: JAUN A % HEI NS i HHG G hl AEd TN TGN
(APC) % &9 H qitwriog forem T 7 |

feu T et % 3rrettes H, ffeifaa o @ @t fasew &1 =m il

(A) I 19T 7 AN HYF 2 71FA ¢ |

(B) hoH 13T 8 N HIH 2T ¢ |

(C) 9 1IN 2T AA 7 |

(D) %I 1 3R 2 AN 3HH 7 |

10. f=faRaa et =i afen @ aAfdemed (A) 3R &I (R) | = few v faemedi |

o HeEl

faehew &1 ==m iU

STHIT (A) : Tldhd AR TqeH ! fedfd ®, Tk Usg &1 <Te] @1 AR

H g Hohdl g |

FRU(R):  Tordll Tsg 1 Traa sgea wifeat, faa gva wiftaai 9 31fess =l

gehd! B |

faeney

(A)

(B)

(®)
(D)

13-58/3/1

AR (A) 3 HIUT (R) SHI T & W HRUT (R), ATMHAT (A) HI
g AT KAl 7 |

AMNHAT (A) I SO (R) SFI TF 8, iehd b0 (R), 3(hAT (A)
1 T AR FgT AT B |

JANTHAT (A) T 7, Afhd HROT (R) 38T B |

JATYHAT (A) 3 B, b SHRUT (R) TT 7 |



Read the following statements carefully :

-
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Statement 1 : Constant rate of change of consumption (AC) with respect

to change in income (AY), is the reason for the straight

line consumption curve.

Statement 2 : Marginal rate of change between consumption and income

is defined as Average Propensity to Consume (APC).

In the light of the given statements, choose the correct alternative from

the following :

(A)
(B)
(C)
(D)

Statement 1 is true and Statement 2 is false.
Statement 1 is false and Statement 2 is true.
Both Statements 1 and 2 are true.

Both Statements 1 and 2 are false.

10. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below :

Assertion (A) : In case of an unfavourable Balance of Trade, the Current

Account of the nation may be in surplus.

Reason (R): Net invisible receipts of a nation can exceed the Net

visible receipts.

Alternatives :

(A)

(B)

(C)
(D)

13-58/3/1

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.
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12.

13.
14.

15.
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i ”5’ ( 75 )
(i) TR 3tfem 3qanT = 110
Gi) | Tsht stfam 3w == 200
(i) | Tha =9 feor g5t fmfo 30
(iv) | Tea fama () 40
(v) i | glg 20
(vi) | Tl gSf s 3uwm 15
(vii) | 3TocTeT 60
(viii) | 39qH 15
(ix) | faesn & 9Ted I6g R () 40

Jrera
(@) == fafy gro Usd 31/ &l STU &Td T09 €4 W@l ST arett fohegl
T et T Ieeig HINTY |

forelt Trsg <t Taresft g1 1 | 1 ToIed €9 F YHITId i dTel fohegl Q1 hehi
i foa=mr Hif |

fereht Tg-arer srefegawen § @uy qfd o g "ol &t faar & s i |

(%) “9rd fig@ % (RBD) g1 §@d 9K H H@9eH (Open market
operations) eIE®A H Hgl AMY(d sl A=A HH H Gl Hid
% |”
A= ehi Afgd fU 7T S i firg i |

AT

(@) Tt U & T 9 & THR F o d GATEHR HE hl foar &

=TT hIfVT |

(%) Uk Hcqep ATaEqT & o, THR T 5,000 HUs &1 Afdfen fFaw
= L 7 | T8 A g¢ FF Hia s yafa (MPS) o9 20%
JAAH TR G Mef F T g, HHE s=d Yg (MPS) § 39 firEe %
R T H IREd i THH AT |

(@) @ e & o faRau |




-
[=::

11. (a) On the basis of the given data, estimate the value of National

Income : 3
Amount
S.No. Items ,
(in T crore)
(i) Government Final Consumption Expenditure 110
(i1) Private Final Consumption Expenditure 200
(iii) Gross Domestic Fixed Capital Formation 30
(iv) Net Exports (=) 40
(v) Increase in Stock 20
(vi) Consumption of Fixed Capital 15
(vii) Indirect Taxes 60
(viii) | Subsidies 15
(ix) Net Factor Income from Abroad (=) 40
OR
(b)  State any three precautions to be taken while estimating National
Income by Expenditure Method. 3

12. Discuss any two factors which directly affect the demand for foreign
exchange of a nation. 3

13. Elaborate the two components of Aggregate Supply in a
two-sector economy. 4

14. (a) “Open market operations by Reserve Bank of India (RBI) help in
regulating money supply in the economy.”

Justify the given statement with valid arguments. 4
OR
(b) Elaborate the ‘Government’s Bank and Advisor’ function of the
Central Bank of a nation. 4

15. (a) For a hypothetical economy, the government incurs an additional
investment expenditure of I 5,000 crore. Assuming that the
Marginal Propensity to Save (MPS) becomes half from its present
level of 20%, estimate the change in income due to this fall in
Marginal Propensity to Save (MPS).

(b)  State the meaning of autonomous investment. 1

13-58/3/1 Page 11 P.T.O.
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Tk fo-aorer srdeyesy § 3T % Tshig YAE hl STGUROn hH
ST hIfY |

“fopet STelezaTen # Ul W] 3G (GDP) 9 ¥hal Hod afdd
(GVA) T I Ted UL ald & |

AT dehl Tigd feU U e ol firg hifvu |

AT

“Od W 3G (GDP) FaFhifash adfae GDP @ Hifgsh
GDP % 3TUTd gRI gt S & |7

FIT A9 feU U Ho4 9 TgHd 8 ? Teh HlcU-eh G&ATcHS I
g AT dqohl g 394 I <hl gfse HifrT |

‘Trota o ST ¥ 3™ &1 7Y Fd1sT |

17. (F) @ TS I & MER R, F=fcilad o qeai shi T0HT I :

i)  ThIYIT =0

(i)  ITTHe =TeT

e % (7 g@' )

(i) gStTd = 30

i) | T it 20

(111) S YT 20

(iv) | = e 10

(v) | TR0 g9 YSiiTa wiftaRt | oo iR
<l 50%

(@) foft aeget & fopdl g1 3eretvli o1 Seai@ T |

() ‘orESfe YEgE 9 |esHe IdTed B 3Ta TS I |
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16. (a)
(b)
17. (a)
(b)
(c)
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(i) Explain the concept of circular flow of income in a two-sector

economy.
(i1)) “Gross Domestic Product (GDP) and sum of Gross Value
Added (GVA) in an economy are always equal.”
Justify the given statement with valid arguments.
OR
(i)  “Gross Domestic Product (GDP) Deflator is represented by the
ratio of Real GDP and Nominal GDP.”
Do you agree with the given statement ? Justify your answer
with valid arguments and a hypothetical numerical example.
(ii) State the meaning of ‘Income from Property and
Entrepreneurship’.
On the basis of the given information, calculate the values of the
following :
(i)  Fiscal Deficit
(i1) Primary Deficit
Amount
S.No. Items (in T crore)
i) Capital Expenditure 30
(i1) Revenue Receipts 20
(iii) Revenue Deficit 20
(iv) Interest Payments 10
(v) Non-Debt Creating Capital Receipts 50% of
Revenue
Receipts
State any two examples of private goods.
Distinguish between ‘Public Provision’ and ‘Public Production’.
Page 13 P.T.O.
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18. famafafiga oMt = ufen : 31fihem (A) 3R &R (R) | Fi= feu U faemedt #
T el faeheq =1 99 iU

3fyweT (A) : Toifew wa & o7aid SN &F T §9 9 R & &y faed
Y AT |

FRU(R):  Tois H TN o foahr@ & fo1u, fofee e AR i 3edg 1
AfRay A9 ISHT ITEd 9 |

ICETE I

(A) ITYHI (A) 3 SR (R) THI T & JN HRUT (R), ANMRAT (A) HI
gl SIS AT 2 |

(B) 3o (A) 3T U1 (R) SFI TcT &, oifehd Rl (R), AMMHI (A)
1 TE RS FgT w1 B |

(C) 3T (A) T 7, Wlhd HRUT (R) 6 7 |

(D) Ao (A) 3T 8, AAfehd SR (R) T 7 |

19. vgaY for <fift s1ocuaeen & ded # faefafgd 7 9 w98 faecy gt 7&7
g |
(1) 1958 H, HELAT ! TATHT &3 o |
(i) foreft & H, fomiv amfeleh & (Special Economic Zones) ¥TfYd 8T 9 |
(i) g EaTEey glaaredi 3 = H gog o H I I o |
IEET I
A (@) 3R (i)
(B) (i) 3R (iii)
© @, () AR (i)
(D) () AR (i)
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SECTION B

Indian Economic Development

18. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below :
Assertion (A) : The agricultural sector under the British rule was
primarily the base of the sectoral growth of India.
Reason (R): British rulers wanted to take maximum advantage of the
Indian agricultural output, for growth of industries in
England.
Alternatives :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
19. Identify which of the following alternatives are not true with reference to
the Chinese economy.

(1)

In 1958, communes were established.

(ii))  In the foreign sector, Special Economic Zones (SEZ) were set up.
(iii)  Better health facilities reduced mortality rate in China.
Alternatives :
(A) (i) and (ii)
(B) (i) and (iii)
(C) (1), (1) and (iii)
(D) (1) and (iii)
13-58/3/1 P.T.O.
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20. Which of the following is/are not an objective of regulated agricultural

market ? 1
(1) To discourage improvement of marketing infrastructure for
farmers.

(i1)) To make marketing systems efficient and effective for farmers to

get best price for their products.

(iii) To discourage farmers to improve the quantity and quality of their

produce.
Alternatives :
(A) () and (ii)
(B) (i) and (iii)
(©) () only
(D) (i) only

21. Read the following statements carefully : 1

Statement 1: Land ceiling was one of the Government policies to

promote equity in the agriculture sector.

Statement 2 : Land reforms resulted in abolition of the Zamindari

system in the post independence period.

In light of the given statements, choose the correct alternative from the

following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.
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Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below : 1

Assertion (A) : Goods and Services Tax (GST) was implemented by the

Government of India on 8t! November, 2016.

Reason (R): GST was introduced to implement a unified indirect tax
system in India.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

Identify which of the following is not a member nation of G20. 1
(A) Argentina (B) Australia
(C) Brazil (D) Bangladesh

Production of varied forms of crops against one specialised crop is called

diversification of

(Choose the correct alternative to fill in the blank) 1
(A)  sectoral occupation (B) employment structure

(C)  crops (D)  industrial production

Identify which of the following is not a Human Development Indicator

(HDD). 1
(A) Life Expectancy at Birth (B)  Adult Literacy Rate
(C) Maternal Mortality Rate (D)  Unemployment

13-58/3/1 Page 19 P.T.O.
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Read the following statements carefully : 1

Statement 1 : Human development is based on the idea that education
and health are integral to human well-being.

Statement 2 : Human capital treats humans as a means to an end.

In light of the given statements, choose the correct alternative from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

On the basis of the data given below, identify the incorrect statement
with reference to annual growth of GDP (%) : 1
Annual Growth of Gross Domestic Product (%), 1980 — 2017

Country 1980 - 90 | 2015 -2017

India 5-7 7-3
China 10-3 6-8
Pakistan 6-3 5-3

Alternatives :

(A) Pakistan and China experienced a fall in growth rate during
2015 - 2017.

(B)  China achieved double-digit growth rate in 1980 — 1990.
(C)  GDP of India accelerated moderately in 2015 — 2017 period.
(D) Pakistan was ahead of India during 1980 — 2017 in terms of GDP.

(a) “Trade and Investment Policy of India had undergone
comprehensive changes in the post reforms period of 1991.”

Do you agree with the given statement ? Justify your answer with

any two valid arguments. 3
OR
(b)  Discuss any two salient features of Indian industrial sector during
the period of 1950 — 1990. 3
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29. “In India, National Education Policy 2020 has stressed a lot on in-service
training of the teachers.”
(1) Identify the source of Human Capital Formation (HCF) indicated
in the aforesaid statement.
(ii))  Elaborate the likely impacts of this source on the economic
development of India.
30. From the given data, compare and analyse India and China’s sectoral
contribution towards Gross Value Added (GVA).
Sectoral Share of Employment and GVA (%) in 2018 - 2019
Contribution to GVA Distribution of Workforce
Sector
India China | Pakistan | India China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100
31. (a) State and elaborate whether the following statements are t{rue or
false, with valid arguments :
(i)  Organic Farming has essentially become the need of the hour.
(i1) In the recent past, the Government of India has taken crucial
steps, like Jan-Dhan Yojana, for efficient allocation of
financial resources.
OR
(b) (1) Define worker — population ratio and describe its usefulness.
(i1)  State the meaning of ‘Disguised Unemployment’.
13-58/3/1 Page 23
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32. Study the given image carefully :

Identify the situation depicted in the image and suggest the impact of the
indicated situation in the Indian economy. 4

.
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&

!
B4 .

-

- ’-,'_.\

N .
s~

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 32.

“It is necessary to generate employment in the formal sector rather than
in the informal sector.” Justify the given statement. 4

33. (a) (1) “The real motive behind infrastructural development in India
was to strengthen the British interests.”
Do you agree with the given statement ? Justify your answer
with valid arguments. 3

(i1) “Navratna policy has facilitated the maintenance, promotion
and disinvestment of Public Sector Undertakings (PSUs).”

Justify the given statement with valid explanation. 3
OR
(b) (1) “Every coin has two sides — debate over farm subsidies is one

such classic example of the same.”
Justify the given statement with two arguments each in

favour of and against the continuation of the farm subsidies. 4
(ii))  State the importance of “Growth with equity” as the objective
of Indian economic planning. 2
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Read the following text carefully :

In the contemporary world with a lot of sustainable development
concerns, green growth and net zero emissions are two important
concepts which are generally discussed together. These two concepts are
essential for the future of the Earth, as by working together on them we
can create a more sustainable future for ourselves and for the

generations to come.

Green growth refers to, “the economic growth that is achieved in a way
that minimizes environmental impact,” whereas, “net zero emission is the
state of achieving balance between anthropogenic emission of greenhouse
gases and removal of such emissions from the atmosphere.”

There exists a robust connection between the two concepts :

(1) Green growth can help to reduce greenhouse gas emissions, which

is essential for achieving net zero emissions.

(2) Green growth can help to create jobs and boost economic growth,
which can help to make it more affordable for countries to invest in

net zero emissions technology.
A nation can do a lot to promote these two factors together, like :

(a) Investing in renewable energy sources which do not produce
greenhouse gases.

(b) Adopting energy efficient measures, such as insulation and other
such appliances which can help to reduce energy consumption.

(c) Altering transportation habits, like adopting walking, biking and
using public transportation as they are lower-carbon ways to travel.

On the basis of the given text and common understanding, answer the
following questions :

(i)  State the meaning of green growth and net zero emissions.

(ii) Discuss briefly the interconnection between green growth and net

Zero emissions.

(iii) Illustrate any one factor to promote net zero emission.
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General Instructions :
Read the following instructions carefully and follow them :

(1) This question paper contains 34 questions. All questions are compulsory.

(1t)  This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(i11) This paper contains 20 Multiple Choice Questions type questions. Each
question carries 1 mark.

(tv)  This paper contains 4 Short Answer Questions Type-I questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Type Questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viit) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map ete. Such questions are to be attempted by Visually Impaired
candidates only.

(ix)  There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)

—

Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1
Assertion (A) : Ceteris Paribus, Devaluation of domestic currency leads

to an increase in National Income of a nation.

Reason (R) : Devaluation of domestic currency refers to reduction in the
value of domestic currency with respect to foreign currency, under
the fixed exchange rate system.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

© 58/4/1/R4PSQ/21 P.T.0.
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The Central Bank can reduce the Money Supply in the economy by
the . (Fill up the blanks with correct alternative.)
(A) increasing, bank rate (B) decreasing, cash reserve ratio
(C) decreasing, bank rate (D) buying, government securities

Identify, which of the following is not a source of demand for foreign
exchange for Indian economy ? (Choose the correct alternative.)

(A) Import of goods and services

(B) Remittances by foreigners living in India to their families abroad
(C) Indian tourists visiting foreign countries

(D) Loans from Rest of the World (ROW)

If a straight line consumption function makes a positive intercept at the

Y-axis, it implies that the Marginal Propensity to Consume and

Average Propensity to Consume as the level of income rises.
(Fill up the blanks with correct alternative.)

(A) remains constant, rises (B) falls, falls

(C) rises, rises (D) remains constant, falls

Under the Exchange Rate System, the Central Bank can control
the rise / fall of foreign exchange rate in a range bound manners.
(Fill up the blank with correct alternative.)

(A) fixed (B) flexible
(C) managed floating (D) gold standard

Identify the incorrect feature(s) of the Money Supply in an economy,
from the following :

(1) It 1s measured during a period of time.
(1) It includes stock of money held by the government of a nation.

(i11) It always represents the currency held with Central Bank of the

Nation.
Alternatives :
(A) (@) only (B) (1) and (ii1)
(C) (@) and (1) D) @), 11) and (111)
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ferepea g :

arfreRem (A) : Hifgeh Feohel BT 3cUTE hi T H aredfoeh Tehet B 3cdTe fohel} T Y
3TTffes Hafg 1 S Tehash 3 |

U1 (R) : dTEdfeeh Hehol o] 3c1E H S&q3il 3 Fa13tl & G il adu oy & qeai
AT ST

ferehea :

A) AT (A) IFRFRT (R) I T § IR F (R), 6T (A) 1 7t 5w
HIATR |

B) 3fFHUT (A) 3R HR (R) HT T & 3T HROT (R), 31RHUF (A) 1 F&l SIren
GRS

(C) 3R (A) T B, ifehd SRT (R) 318 § |

(D) IRUT (A) 3THA 8, Afh RO (R) FA 2 |

<1 TS dTfeTehT g, 3T % 36 & o Ug= shi T8l 3Aiad sreid Jaftt (APS) Y= i

(Tt ferehed 1 = L 1)
@M @FL) | 0 | 50 | 100 | 200 | 300 | 400
IUUR R ) | 50 | 75 | 100 | 150 | 200 | 250

~

@

forepea

A 50 B) 100

(C) 200 D) o
9. frafeiaa weAi 1 s Yds JTERE

HUA 1 : ITHWT o T9id Th HALTTET & UFT IcATEH o U & |
U 2 : I HT I T YT: 3769 = hT RO AT 8 |

few T e & StTetis o ffafaa o & w&t fasea o1 ==m Fif
(A) FUT 1 IS INHYT 2 IHAE |

(B) U 13T I HIT2 TR |

(C) HUT1 IR 2GHI AT F |

(D) HUT 1 R 2 GHI AT F |
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Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1

Assertion (A) : Real Gross Domestic Product is a better indicator of
economic growth of a nation as compared to Nominal Gross Domestic
Product.

Reason (R) : Real Gross Domestic Product measures the value of goods
and services at current year prices.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

From the given table, identify that level of income, where Average

Propensity to Save (APS) becomes Zero. 1
(Choose the correct alternative.)
Income
0 | 50 | 100 | 200 | 300 | 400
R crore)
Consumption
50 | 75 | 100 | 150 | 200 | 250
R crore)
Alternatives :
A) 50 B) 100
(C) 200 D) 0
Read the following statements carefully : 1

Statement 1 : Consumption and Savings are the components of National
output of an economy.

Statement 2 : Higher level of Income often leads to lower savings.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

© 58/4/1/R4PSQ/21 P.T.0.
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frefeftaa = agt sTsRiies o o saferd i :
() IS 3T HHT
(i) HHAIG
(iii) &=H Oi § S
ferereu
Q) @, (), (i) B) (D), (1), @)
(C) (), (i), @) D) @, @), i)

11. (a) T=faRed g= 1 3T Hd g, T8 AR TR G T 346 (NNP)

T BT STFHH @I :

T 9. e e (R AT H)
() |3 = 1,200
(i) | e wrh fee s 800

(iii) | TERT SAfaT IqHT = 500
(iv) | Tata o stmana s stk 100
(V) | TG AT HL 150
(vi) | BTerE (Inventory) ® aiad ) 50
(vii) | feor Sht <1 3uwm 200
(viii) | faeen @ yg wres 3™ 80
(ix) | Grestes Tt fay 70

YA

(b) “A & ThHT TaT8 o o =0 (Disposition Phase) H SR 3T HT Y418
Tftfera grar 2, forem wAT 3 Taeii 1 fehtmn, woigll, T o oy e BT g 17
7Y I & AHLT T HROT AT §U, YA T TS JT THH Y |
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10. Arrange the following in the correclf| se“quential order, if the government of
a nation is trying to curtail the situation of inflationary gap : 1
(1) Decrease in disposable income
(1) Increase in taxes
(i11) Decrease in Aggregate Demand
Alternatives :
Q) @, @), (1) B) (1), (1), @)
© (), (1), @) (D) (), @), (1)
11. (a) Estimate the value of Net National Product at Factor Cost (NNP.),

using the following information : 3
S. No. Items Amount
(in % crores)
1) Household Consumption Expenditure 1,200
(11) Business Fixed Investment Expenditure 800
(111) Government Final Consumption 500
Expenditure
@1v) Excess of Imports over Exports 100
V) Net Indirect Taxes 150
(v1) Change in Inventory (-) 50
(vi1) Consumption of fixed capital 200
(viii) | Net factor Income from Abroad 80
(ix) Public fixed investment 70
OR

“Disposition Phase of circular flow of Income involves flow of factor
Income, which comprises of rent, wages, interest and profits from
firms to households.”

Defend or refute the statement, giving valid reasons in support of
your answer. 3

© 58/4/1/R4PSQ/21 P.T.0.
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T o AT e o ST TR o FHTISH el b1 Higretor 37¢f Ty |

T e, TR SR A T 40,000 HUS 6 &1 INIISHT & T TS a3 i
rcaTted e o1 ot feran 2 |

3= aeft wrehl I STafafda omd gu, < w8 frfa % stdfereren it 3, SR F
ITE T GHTTerd THTE sh SAHEaT < |

AT TTel Sioh o “Sohl & Sieh o TIdeTeh” T <hl AT hl |

(a)

(b)

(@)

(b)

A wfifoTe, weh sreeewe d@qeH H 7 | Freafafaa stfeel gro stefeemen § faae
= 1 TUETH |
() TE 3™ = T 40,000 HUS
(i) ©iwra 3a Sgfd (MPC) = 0.8
(iii) TETE TR () = T 100 HUS
3AAUdT

“HgT FFEHIT 1 TR HFW % I B, WA it d6 (RBI) “aeb g0 o et o
Hhaig I”

RBI 21 33TT S It 38 shed o dehiiR hi fae=mT &t |

freferfaa = A= swron gy, defira sfert sreran Tetea wifte o affed i
() U T HHU-T & TTHT ol YTH AT |

(i) Gol aTeR H et arasitres &= o 3usHH (PSU) & 3790 (Share) & fosht @
TTHT I T |

(iii) >ficiohT TRHT GRT WA TR I FehTAT 7T 3k |
AT
() ‘T IrefeTewR W A F T o fIdtor § STHAMAIST Sl HH H H THT
OIS Th IUAT A1e B HehaT & |
FAT 37T fEU TTC 2 | TgHd & 7 3794 I o TUL § U1 qoh T hi |
(i) TSN e *7 37 9 5 ford |
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State the meaning of autonomous and accommodating items, under
Balance of Payments of India, with the help of an example. 3

—
o

—
w

Suppose, the Indian Government decides to boost public investments with
a defence project of ¥ 40,000 crore. 4

Explain the likely impacts of the given situation on the Income, Employment
and Output of the economy, assuming all other factors constant.

—
e

Elaborate the ‘Banker’s Bank and Supervisor’ function of the Reserve
Bank of India. 4

—
ot

(a) Suppose an economy is in equilibrium. From the following data,
calculate Investment Expenditure in the economy : 4

(1) National Income =% 40,000 crore

(11) Marginal Propensity to Consume (MPC) = 0.8

(111) Autonomous Consumption (¢) =3 100 crore
OR

(b) “With the objective to correct deflation, Reserve Bank of India may
decrease the Bank rate.” 4

Discuss the rationale behind the step taken by the Reserve Bank of
India (RBI).

—
2]

—~~
Y

~

With valid reasons, classify the following into Capital receipts or
Revenue receipts of the government : 6

(1) Dividend received by the government from a Maharatan
company.

(i1) Receipts of the government from sale of shares of a Public
Sector Undertaking (PSU) in open market.

(111) Debt cleared by Sri Lanka Government to the Indian Government.
OR

(b) (@) ‘Government Budget can be a useful instrument in reducing
inequalities in the distribution of income and wealth in an
economy.’ 4

Do you agree with the given statement ? Present wvalid
arguments in favour of your answer.

(i1) State the meaning and formula of Fiscal deficit. 2

© 58/4/1/R4PSQ/21 Page 11 P.T.O.
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(2) “Tuoct 3o ool H, ST G § g gfg ¥ Ia~ ThRIcHs STeraist o
AT Jrefedereer Ikl e =a gs 8 |

fe T4 e 1 94 ki g firg Y |
(b) Hoa e faftr grr Ui 31 % SATehe W T =T T 9 |

Qus - 9
(W 3Tifefes fererma)
frefefaa st =1 gfew : srfimpe (A) 3t wror (R) | i few mu fomeat & & o
ﬁﬁb_chﬂﬁﬁz
ATReA (A) : AT3EE Wi TS it &1 o forepmar o weh wer oft |

wruT (R) : st & 3 31, Tre o STaUsE Sieeaeicashdl § GUR & Sl oAged
ITH A | ot Ui oeie s of |

forea
(A) ARTHUT (A) 3R SR (R) THT TcF & 3R BT (R), ANTRAT (A) T Tt =umen
HATR |

(B) 31Rh9T (A) 3T RN (R) THT Icd & 3T HROT (R), 3T (A) 1 T8 sare
TR BT R |

(C) 31RhuT (A) T B, wifehd ST (R) 38T § |

(D) 3ARTHYA (A) 375 B, WAfehd 0T (R) AT # |

vgaH fob frefefea & @ o @1 faeen, HiY fauum yoeft % sroe gl & sESH
1 AR 7 -

(A) FIISHE, WSHUT, TEEHTT, YehfS (B) 3T, HASH, THERT, UfeT
(C) TS, TEERTT, YohfonT, uftas (D) TEEHT, Ui, BfEm, ferawo
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(a) “In the past few decades, Indian economy has been fairly benefitted
by positive externalities created by rapid rise in infrastructure.”
Justify the given statement with valid arguments.

(b) State the steps pertaining to the estimation of National Income by
Value Added Method.

SECTION - B

(Indian Economic Development)

Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below :

Assertion (A) : License Permit Raj was a major obstacle for growth of
private sector.

Reason (R) : Private sector wasted huge amount in obtaining licences,
rather than on improving the product, quality and international
competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Identify, which of the following alternative indicates towards incorrect
components combination of Agricultural Marketing System ?

(A) Assembling, Storage, Processing, Packaging
(B) Production, Assembling, Processing, Grading
(C) Assembling, Processing, Packaging, Transportation

(D) Processing, Packaging, Grading, Distribution

© 58/4/1/R4PSQ/21 Page 13 P.T.O.
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frefaftaa et o1 ermgEe 31 i

HUA 1 : 9 T 3799 ArTient & foru stfafes amifse o smiie sreer 3a= w3 * fag
EIEESEEIRERIURE IR

HUA 2 ; I H TR R TSR G @fd & A0 3 e foen@ Sehae! §
HehTIcHeh IiuTH feu 2 |

feu ¢ et & 3eties # frefaftaa 4 9 g&@ foemea o1 === Hifve
(A) YT 1 T2 IHYT 2 IHA R |

(B) U 1 FEAEINHAT 2T R |
(C) HUT13IN2TA TS |
(D) Y 1 31K 2 SHI @A & |

. Trfefaa et w1 ermgdes s1esea &l

U 1 : TP vldest gderor sRie™ (NSSO) & IER, SUSHTH a8 3ra 7, fem
Sk M % T % HRU o1 1 % @ 10 & | 3 HERd =afE T8 8, W
AT TSRTRETATST & I /i @ 8 | Sum TRef 9 J=ford Asigl ot = M
T 1 3T Tehe L HR TAT & |

HUA 2 : TR SF I ek ITTETE] oot < H T==1 sRISHTR SATHAR W Ush SSl T ? |

few Tu et & AT J frafafad O @ wet faeed o1 === Hifve

(A) YT 1 Hca 8 NHYT 2 IHA R |

(B) U1 3HILIMNMFATI 2T |

(C) 91323 A& |

(D) HUT1 32 GHI FAAA S |

. Torfesr v 6 s7arfa, $iY < SAEERiew & ffomEEr FN 3T wEdi g
HEC § MG 2 4T | (wdt fershed g ek i < afd =61 1)
(A) g, @ (B) wHum, 5
(C) @™, T9g D) <, @™
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20. Read the following statements carefully : 1

Statement 1 : China has used the market mechanism to create
additional social and economic opportunities for its citizens.

Statement 2 : In China, Social Infrastructure created by the government
brought positive results in human development indicators.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statement 1 and 2 are true.
(D) Both Statement 1 and 2 are false.

]
—

Read the following statements carefully : 1

Statement 1 : As per National Sample Survey Organisation (NSSO)
unemployment is a situation in which all those who, owing to lack of
work, are not working, but seeking work from prospective employers,
expressed their willingness to work under the prevailing condition of
work and remuneration.

Statement 2 : Disguised unemployment is generally a massive problem
in the highly populated country like India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statement 1 and 2 are true.
(D) Both Statement 1 and 2 are false.

o
ro

Under the British Rule, commercialization of agriculture resulted in

shifting of agricultural production from crops to Crops. 1

(Fill up the Blanks with correct alternative.)
(A) Cash, Food (B) Cotton, Jute

(C) Food, Cash (D) dJute, Food

© 58/4/1/R4PSQ/21 Page 15 P.T.O.
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o
e 3 mden gem 3 i e i o s fpu T S |
(e Freet Tt e e <61 o 1)
(A) 1978, 1988 (B) 1988, 1978
(C) 1978, 1991 D) 1991, 1988

Y 1 T TET YUTTEAt 2, S T Hqe i S8 Hd! 7, S W@l 8

T gfg HA 2 | (wet faenea gra feh v Y gfd &6t 1)
(A) YR B) TEEM®
(©) e (D) wg&lE

frfafaa Ut =1 ufeu : SAfpaT (A) 3R Fror (R) | = for e fompedt o @ @&

ﬁwgﬁq:

TR (A) : WA o TIfehEaT & forehTal STI¥e 3 8 FHMHAT § |

HROT (R) : WA o T g1 3 Teh ST {9sil &1 s W 37fereh 5iet feam e |

ferereua -

(A) I (A) 3T BN (R) ST T § 3T HRT (R), TTUHAT (A) hl H&t e
HATR |

B) 3fFHUT (A) 3R FHR (R) HT T & 3T HROT (R), 31U (A) 1 Tl =aren
T R g |

(C) 3ThhY (A) I B, AT SRl (R) 3T # |

(D) 3THUT (A) A 8, AfhT ST (R) T 2 |

Wﬁ%ﬁmﬁ%ﬁﬁﬁmwﬁmm@mﬁﬁ%?

()  3rafre & sfEswo

(i) Sftaa i R

(iii) e Hafl HaTd SEgH HEA

ICET

A) A= 1) B) == (1)
(C) (1) ¥ (1id) D) ®F W)
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Economic reforms were introduced in the year in India and in the
year in Pakistan.  (Fill up the blanks with correct alternative.) 1
(A) 1978, 1988 (B) 1988, 1978
(C) 1978, 1991 (D) 1991, 1988

farming is the system that restores, maintains and enhances the

ecological balance. (Fill up the blank with correct alternative.) 1
(A) Conventional (B) Chemical
(C) Organic (D) Multi-layered

Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1

Assertion (A) : The developmental experiences of India and Pakistan
have a lot of similarities.

Reason (R) : Both India and Pakistan laid emphasis on creating a large
private sector.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Identify, which of the following is not a correct function of environment ? 1
(1) Exclusion of waste
(i1) Sustainance of life

(111) Provide aesthetic services

Alternatives :
(A) () only B) 1) only
©) @) & (i) D) @ & (@D

© 58/4/1/R4PSQ/21 Page 17 P.T.O.
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1970 < g1k U, YTfehta = 379 ﬁnmu@w%ﬁmw
(&gt forhed g fer worm A1 gfd Wi 1)
(A) Farfereen g gt (B) 39IehT e
(©) Ui weg D) fordaft smm
(2) ‘B I9EH FHH fod W WY S St 7, Weg feA @ ©fiwia ekt < fore @g
Fife RS |
feu U eum o1 3ifae fag =i |

Jera
(b) WA <h! ferehra =TT W <t e b ofireRt TR e T ==l B |

LT U Jrafy #, Hiy H Foeferi & Ivem’ o Hwdr o & i QU foham W o |
T AT TeU T hU W TgHA 3 7 9 dohl gRT 379 I b1 GHdT & |

(@) () “9ra < ugh e fifa 2020 Jamenrela et % gfderr W aga SR
2

feu Tu U & 3relies #, TRt off Y % e & % S W 3H YHR &
HaTehTcA I T8I0 o hIS S ATHI 1 Ioi o AT Y |

(ii) IATeRTER TG HfHeh i TRATT 1 |
teran

®b) () T TRl T wROm i A H, e wrer FEfid ot I o
AfEeTIatl oY 3T &I uTE Sl @ |

(i) =i — SEE JTUTd 1 aReTid Y |

(a) “eh TargM Wi, TTieRa & = o T rerfiehe o am= aRfesfd ama 8 17
forym fotmmrTa < 3tTeTres | feu 7w a1 fiag |
(b) Tr=El S TIaAaT Hehdehl T 3eoi@ H |
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27. In the decade of 1970’s, Pakistan nlgtionnalised its industry. 1
(Fill up the blank with correct alternative.)
(A) Medical infrastructure (B) Consumer goods
(C) Capital goods (D) Foreign trade

)
®

(a) “Farm subsidies put a huge burden on the government finances, but
are necessary for the poor and marginal farmers.” 3

Justify the given statement.
OR

(b) Discuss briefly the role of small-scale industries in the growth
Journey of India. 3

Do
®

Goals of Equity was fully served by ‘abolition of the intermediaries’ in
agriculture in the post-independence period of India. 3

Do you agree with given statement ? Support your answer with valid
arguments.

w
e

(a) (@) “National Education Policy 2020 of India stresses a lot on
in-service teachers’ training.” 3

In the light of the given statement, state and explain any two
advantages of such on-the-job trainings in upliftment of
education sector of any nation.

(i1) Define Casual Wage Labourer. 1
OR
(b) (@) Elaborate any two reasons owing to which lesser number of
women are found in regular salaried employment. 3

(i1) Define worker — population ratio.

w
=

(a) “Scholars find son preference as a common phenomenon in India,
Pakistan and China.” 2

Justify the given statement in the light of skewed sex-ratio.

(b) State any two liberty indicators. 2

© 58/4/1/R4PSQ/21 Page 19 P.T.O.
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32.

2

[m; e

foreqa &9 & wwend fop wRa i amifefe gur wheen 3 frafaRaa @1 e yer wenfea
ﬁb‘iﬂ:

(a) &=
(b) ArEnfires &=eh

. 8 feoeft § G-20 Farsti 1 9o 1 TR 9 R “&H T gt 9 Uk UGN @

qUT EH Teh Wi AT hid & |

39 YO | Faq137 4, 2030 TST AT Had s e (SDG's) i qura: 9 ST &9 H
Tsranfeera vt <1 Hehed foran 3 | Tiwores 1 fafgd Jarsn 1 ufqegand “gar sma-9m@
R 5o e

YU 98 I et ® 56, “SDG &% 2030 & T8l W T I Ua Tehei o
AT I IeTE R TG fean R

et = 7 gifead fean fop, “fpeht oft g =61 fefaar 6t orers o gesht i oierE @ freht
Teh 1 =9 9 AT 0 |

|t AT A FATARTT % 17T T 3 o1 Hehed for 2
e TSEd, Had, HfeTd 9 quTareh faeht # e

e 2030 TSIET o Ui & YT BRI H dsfl;

o T HIEH F THEW €Y | FAq fohE 99 ST,

o  JEW, SATUH qAT freh yoreht forey ATl o foTw Yermi bt 377 s |

avft 941, “SDG T et | dftsrl o o feTw G-20 2023 T FISH1 & JuTel 9 gHIeg
HriE % fore agfech wElaTd S % fore afaerg €; 398 1@ o FuIw 1 Ted i,
Ifvaeh TTERT I 5@ HT TUT TR GIEHIUT Tl TN HEAT AT U0l F¥1eqm se
T FfeAfera g |7

(a) SDG I IuAfeY H AYfesh I§ o He™ h Ieoi@ o ST, |

(b) TA-TEX T I THTEH JH A 2q SM1-20 1T 61 HRI Jie1 61 e o
<= i |
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Elaborate how the economic reforms process of India impacted the
following : 4

w
o

(a) Agriculture sector

(b) Industrial sector

w
w

“We are One-Earth, One Family and we share One Future.” is the opening
sentence of the G-20 New Delhi Leader’s Declaration Statement.

In this statement the leaders pledged to “resolve to fully and effectively
implement the 2030 Agenda and the Sustainable Developmental Goals
(SDG’s)”. The leader’s commitments contained in the Declaration
statement reflect, “the philosophy of living in harmony with our
surrounding ecosystem”.

The Declaration recognises the “Cascading challenges and crisis that have
reversed gains” on the 2030 Agenda of SDG’s.

The leaders “affirm that no country should have to choose between
fighting poverty and fighting for our planet”.

The leaders resolved to act
. accelerate strong, sustainable, balanced and inclusive growth;
®  accelerate the full & effective implementation of 2030 Agenda

® pursue low-carbon and environmentally sustainable development

pathways;

®  Pursue reforms for better, comprehensive and more effective finance
avenues.

The leaders commit to “taking collective actions for effective and timely

implementation of the G-20 2023 Action Plan to accelerate progress on the

SDG’s; including through actions on eliminating hunger and malnutrition,

strengthening global health and implementation of One Health approach,

and delivering quality education.”

(a) State and discuss the importance of collective fight in achieving

SDG’s. 3
(b) Discuss briefly the action plan of G-20 leaders in promoting ‘One
Health’ approach. 3
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(1) Discuss any two measures initiated by the government to
improve Agricultural marketing in India.

w

[N
~~

Y]
N

(i1) Elaborate the importance of credit in rural development.
OR

(b) (@) ‘India can transform itself knowledge-based economy by using

information technology.’

Justify the given statement.

(1) “It is necessary to generate employment in the formal sector
rather than the informal sector.”

Justify the given statement with valid arguments.

QOCLCLEEICEELOEEEICEEUECEEICEEOEEEIEEEOOEEEIEEEOOCEEICCEO
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General Instructions :
Read the following instructions carefully and follow them
(i) This question paper contains 34 questions. All questions are compulsory.

(ii)  This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(iit) This paper contains 20 Multiple Choice Questions type questions. Each
question carries 1 mark.

(iv)  This paper contains 4 Short Answer Questions Type-I questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Type Questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

(vit) Attempt all parts of a question together.

(viii) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix)  There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)
1. Read the following statements carefully : 1
Statement 1 : Ex-post savings and Ex-post investments are equal at all
levels of income.
Statement 2 : Under the effective demand principle, the equilibrium
output is equal to ex-ante Aggregate Demand (AD).
In the light of the given statements, choose the correct alternative from
the following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

2. Identify, which of the following is not considered as ‘Normal Resident’ of India ? 1
(A) An Indian citizen working in U.S.A. embassy located at New Delhi.
(B) An Indian officials working in Indian embassy in China.
(C) An Indian diplomats visiting Canada for a summit.
(D) An Indian working in an American Company located in New York for
a period of more than 1 year.

58/5/1/RR5SP/22 P.T.0.
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In a hypothetical economy, if entire additional income is consumed, the

value of investment multiplier would be

(Fill up the blank with correct alternative.)
(A) One (1) (B) Zero (0)
(C) Between zero (0) and one (1) (D) Infinity (o)

If in an economy the Balance of Trade is showing a deficit of ¥ 200 crore
and the value of import 1s ¥ 900 crore, then the value of exports would be

3 crore. (Fill up the blank with correct alternative.)
(A) 200 (B) 1100
(C) 700 (D) 900

“Mr. Sahotra borrowed funds from bank for purchasing a new house”.
From the above statement, identify the indicated function of money :

(A) Medium of exchange (B) Store of value

(C) Unit of account (D) Standard of deferred payments

From the given table, identify that level of income, where Average
Propensity to Save (APS) becomes zero :

(Choose the correct alternative.)

Income (% crore) 0 50 | 100 | 200 | 300 | 400

Consumption R crore) | 50 | 75 | 100 | 150 | 200 | 250

QRLROLERICLLUOLELRIOPOOOEERICLCLUOLELRIOEEOOEERIOCOUCCCIOCEU
a

©

Alternatives :

A) 50 (B) 100

(C) 200 D) 0

If in an economy the initial deposits are ¥ 4,000 crore and Reserve Ratio

(RR) is 10%. The value of total deposit created would be¥  crore.
(Fill up the blank with correct alternative.)

(A) 4,000 (B) 40,000

(C) 2,000 (D) 20,000

58/5/1/RR5SP/22 P.T.0.
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From the following, identify the correct reasons that may affect the supply

of foreign exchange in an economy : 1
I.  Purchase of land in England by an Indian

II. Foreign tourists visiting Taj Mahal

III. Donation of $ 500 million from Microsoft

IV. Indian students going to Australia for studies

Alternatives :
(A) TandII (B) IIandIV
(C) II and III (D) TandIV

Identify, what does the shaded area (AEFG), in the given figure indicate ? 1

Y-axis 4 E~ X
=)
o
e | —C=t+bY
=% E
g G
=
w0
=
S
4 > X-axis
0 Income
I.  Consumption > Income

II. Saving = Zero (0)
III. Consumption < Income
IV. Saving < Zero (0)

Alternatives :
(A) TandII (B) II and III
(C) IIIand IV D) TandIV

For Visually Impaired Candidates :

Marginal Propensity to Save (MPS) is the slope of function.

(Choose the correct alternative.) 1
(A) Consumption (B) Cost
(C) Saving (D) Investment

58/5/1/RR5SP/22 P.T.0.
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10. The measurement of Balance of Payments deficit is based on

transactions. (Fill up the blank with correct alternative.) 1
(A) Autonomous (B) Accommodating
(C) Current account (D) Capital account

11. (a) Calculate Net Value Added at Factor Cost (NVA) from the following

data : 3
S. No. Particulars Amount (in ¥ lakh)
(1) Fixed capital goods 15
(expected life span — 5 years)
(11) Domestic Sales 200
(111) Change in stock (-) 10
(iv) Exports 10
(V) Single use producer goods 120
(vi) Net indirect taxes 20
OR
(b) From the following data, estimate the value of Net Indirect Taxes
(NID) : 3
S. No. Particulars Amount R in crore)
(1) Net National Product at 1,400
Market Price (NNPy;p)
(11) Net Factor Income from abroad (-) 20
(111) Gross National Product at 1,300

Factor Cost (GNPp()

(iv) Consumption of fixed capital 100

12. “Trade Deficit must exist, if a country is facing situation of Current
Account Deficit (CAD).”
Defend or refute the above mentioned statement with valid arguments. 3

58/5/1/RR5SP/22 P.T.0.
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13. Suppose, an economy is in equilibrium. From the following data, calculate

investment expenditure in the economy :
National Income (Y) =3 10,000 crore
Marginal Propensity to Consume (MPC) = 0.8

Autonomous Consumption (c) =¥ 100 crore

()
(b)
(©)

()

(b)

®

(11)

(1)
(i1)

“With an objective to reduce inflation, government may reduce
public Expenditure.”
Discuss the rationale behind such a step which may be taken by
the Government.
Define Effective Demand Principle.

OR
State the meaning of ‘unintended accumulation of inventories’.
“In an economy, Aggregate Demand (AD) is more than
Aggregate Supply (AS).”
Elaborate the possible impacts of the same, on the level of
output, income and employment.

“Open Market Operation by the Reserve Bank of India (RBI) helps in
regulating money supply in the economy.”
Justify the given statement.

()

(b)

()

(b)

(1)
(i1)

(1)

(11)

Distinguish between Revenue Expenditure and Capital
Expenditure of a government, with suitable example.
“Under the ‘Production Linked Incentive’ scheme, the
Government of India offers various benefits like reduced
import-export duties, incentives to investors, tax-rebates etc.”
In the light of above statement, identify and explain the Budget
objective and its likely consequences.

OR
“Under “Zero Defect, Zero Effect’ (ZED) scheme, the government
of India provides up to 80% subsidy to Mini, Small and Medium
Enterprises (MSMEs).”
Identify and explain the objective of government budget,
highlighted in the above text.
Distinguish between Direct tax and Indirect tax with suitable
examples.

As per The Economic Times report, dated April 11, 2023

“Electric Vehicle sales cross 10 Lakh mark in financial year 2022-23.”
Analyse the likely impacts of this news on Gross Domestic Product
(GDP) and Welfare.

Discuss briefly, the circular flow of income in a two sector economy
model.

58/5/1/RR5SP/22 P.T.0.
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SECTION - B

(Indian Economic Development)

18. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : India could not develop a sound Industrial-base during
the British rule.

Reason (R) : Britishers followed restrictive trade policies, which
strengthened Indian handicraft industries.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) 1s false.
(D) Assertion (A) is false, but Reason (R) is true.

19. From the events given in Column-I and facts given in Column-II about

China, choose the correct pair : 1
Column -1 Column - 11
(a) | Structural transformation (1) | Limited Urbanisation

(b) | Great leap forward campaign | (i1) | Reduced global demand

for Chinese products

(¢c) | Less stress of usage on (111) | Low density of population

natural resources

(d) | Slowdown in GDP, since 2014 | (iv) | Aimed at massive

industrialisation
Alternatives :
A4) (@-0 (B) (b) — (1)
(C) (o) — (1) D) (d)-@av)
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HYF 2 ; ITAIRIT h VT, g WA HrafF 3 forgen § 3moe AR A gfg h 7 |
TeU U el o 3T §, ffaiiagd § 8 Tel faehed 1 T3 shifolu :

(A) HYF 1 T2 M HAUT 2 AR |

(B) YT 1 IFAZ M HAT 2T R |

(C) HIT13IN2TA TAE |

(D) %9 1 3 2 THI 3T 2 |
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20. After independence, the rationale behind choosing Modernization as a
planning objectives for the Indian economy were
I. To bring positive changes in the social outlook
II. Equitable distribution of income
III. Technological Upgradation
IV. Increase in Economic Divide

Alternatives:
(A) TandII (B) II and III
(C) TandlIII (D) Tand IV

DO
=

Study the following picture :
““’E. >
igs

Sheeps and
Goats

‘
- -~ T,
1iizs
J, |
4
A8

Cattle and—§
Buffalos

s E

Tdentify the kind of activities, which may be envisaged under as
diversification activity.

(Fill up the blank with correct alternative.)

Alternatives :
(A) Animal Husbandry (B) Fisheries
(C) Horticulture (D) Organic farming

For Visually Impaired Candidates :
farming is a system that is helpful in restoring, maintaining and
enhancing the ecological balance.
(Choose the correct alternative to fill in the blank.)
(A) Multilayered (B) Chemical
(C) Organic (D) Conventional

)
N

Read the following statements carefully :

Statement 1 : Outsourcing is one of the important outcome of
globalization process.

Statement 2 : Owing to globalization, many Indian companies have
expanded their operation abroad.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 1is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both statement 1 and 2 are true.

(D) Both statement 1 and 2 are false.

58/5/1/RR5SP/22 P.T.0.
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TR H 3TTIeh LRI 3T TRA U T g AT |
(Tt fohed R T T <l qfd i 1)
(A) 1978 (B) 1980
(C) 1988 (D) 1991

frfaRad HeAT 1 STYEeh TERE & :

HYA 1 : =i T s arioes o i 3wt St 3caf o fofu Tomifas Sfiergar =
TR AT, ST e o <hT JAINT foham o |

YA 2 : VA, TThEIH d = hi Wifdeh Qe H9=d131 H Tl SIh] THT & TG 3Thl
Tfiferes sereemd faespet =1 2 |

(A) YT 1 T2 IMHA 2 3EA R |

(B) %Y 13T M FIT 2T R |

(C) ®1IM2EA TR |

(D) YT 1 3N 2 THI 3EAE |

freft Ty o Gohdlh h! TTHTRST d ToiIfeeh ol o o sHaiferda wrfier 6
T % U9 o T T qiTiyd fmam S dehdT 7 |

(Tt fohed gra o T <t qfd i 1)
(A) 3TRieh (B) @
(C) SHHIfETh (D) Lo

frefafad et 1 SIYEes 37eeH i

HYT1: Aayh gl wfesl &1 Wl YR W %W W @I Iar @ 997 3w
AT gReat oy ot freran 2 |

HYT 2 : AT T T USTR ITH TUT SISHTR ST SH bl bl iRiferd foham Sran & |

few U AT & Ireties H, Freforiaa 9 gt fomred @1 wEm Hifsw

(A) HYF 1 T2 MNMHAT 2 A2 |

(B) %Y 13T I HYT 2T R |

(C) HUYT13M 2 AR |

(D) % 13N 2 A AT |

H&H R (Micro Finance) 3 JSHT bl T YO & H1ey § faedmia
ERISICIES

(@t ferepe gra fr T <t gfd W 1)
(A) T TERIT TYE (B) fa ferprar Sieh
(C) & amfiur S (D) afoTfSore s
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Introduction of Economic Reforms in Pakistan took place in year
(Fill up the blank with correct alternative.)
(A) 1978 (B) 1980

(C) 1988 (D) 1991

Read the following statements carefully :

Statement 1 : China has used Market system mechanism without loosing
political commitment to create additional social and economic
opportunities.

Statement 2 : India, Pakistan and China have similar physical
endowments but totally different Political systems.

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

indicator may be defined as the measure of the extent of
demographic participation in Social and Political decision making in a
Country.
(Fill up the blank with correct alternative.)
(A) Economic (B) Health
(C) Demographic (D) Liberty

Read the following statements carefully :

Statement 1 : Casual workers are hired on a permanent basis and also
get social security benefits.

Statement 2 : Workforce comprises, both employed and unemployed
person.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

The scheme of ‘Micro Finance’ is extended through credit
provision.

(Fill up the blank with correct alternative.)
(A) Self help groups (B) Land Development Banks
(C) Regional Rural Banks (D) Commercial Banks

58/5/1/RR5SP/22 P.T.0.
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(a) ‘mwﬁ@ﬁﬁw%%ﬁsﬁfmﬁmﬁﬁﬂmﬁwﬁwwﬁﬁwﬁﬁ
A frett off |
e k! gIT feu T e w1 S firg L |
LG
(b) “fofew e % Em W9 F fam 7 wRd gEmeEt % 3iufefies W w6
SreaTtea fekam o |”
3 qeh! g0 feu U shem o1 e frg i |

)
o

DO
©

T Y H TG Git Ticare o R Taree Sansti s fieh! shi ST i |

feu U Stiemet < Ear W, 9Y HRUN gRI, =9 9 YR o SHEET S a0 IS
[REIGNEICREN G LTS
(AT Hohah, 2017-18

w
e

) SEG | SHEEn S | SHEE o | o | el
SHEE | aiies gfg e I | W
(Frform ) fa =t fs )
IR 1352 1.03 455 924 | 2.2 34
= 1393 0.46 148 949 1.7 59
TRt 212 2.05 275 943 3.6 37

() “9Rd § THOT & T qHaT BT IO <led B b [T SMURYA FEET BT
ferenfera T sETER 2 17

T T g e T e ot sftfaca fag i |
(i) ‘gHa faE’ w1 319 fod |
YAl
(b) “HRd S Y H, USHTR G o feTT TRISHTR Teh HEY0] STTER TGH hidl & |
= dehl oh MU 9 U 7T oM o1 gHeiT 31291 Wed i |
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“Opening up of Suez Canal helped in establishing the British

monopoly control over India’s foreign trade”.

Justify the given statement with valid arguments.
OR

“Development of Railways during British rule encouraged colonial

exploitation of the Indian resources.”

Justify the given statement with valid arguments.

Explain the role of affordable healthcare facilities in promoting human

capital in a country.

From the given data compare and analyse the Population Density and

Fertility Rate of China and Pakistan, with valid reasons :

Demographic Indicators, 2017-18

QLRUEEEICECOEEEIEEEOOEEEEEEOEEEIEELOEEOEIOEOEOOEOCCICEE)

Country| Estimated Annual [Population| Sex |Fertility|Urbanisation
Population | Growth of | Density | Ratio| Rate
(in million) |Population (per
sq. km)
India 1352 1.03 455 924 2.2 34
China 1393 0.46 148 949 1.7 59
Pakistan 212 2.05 275 943 3.6 37
31. (a) (1) “Infrastructural development is an essential element to obtain
the full potential of the rural sector in India”.
Justify the given statement with valid arguments.
(i1) State the meaning of ‘Human Development’.
OR
(b) “In a nation like India, self employment provides an important
avenue for employment generation.”
Defend or refute the given statement with valid arguments.
© 58/5/1/RR5SP/22 P.T.0.
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32. (a) USHIR d Hehel BT] 3CUTG o HTCTRET 3T@ T LA i | 1990-2012 % AL
7 g1 =R sh1 St 1 fergetsor s |
TR gfeg 3R Fehet TRe] 3TE 1951-2012 (%)
10
9 8.7
8 /‘\ & 7.8
7 5.7 5.8 6.1 6.1
¢ =
T 42 L N34/
4 74\ 2.8/""7 \(
2 pal 199 184 173 18 m 2.28
O T 0I85 | I I | | I 1 I WS I
1951-56 1956-61 1961-66 1968-74 1974-79 1980-85 1985-90 1990-92 1997-2000 1999-2005 2005-10 2010-2012
- GDP = TSR
gfveera adremeffat & fore -
St & 1 At Jaarht s oo 87 O st R B @ v
(b) AT — TTHEAT IHTA I AT Y, |
33. (a) () “vIRdE TIEEA H $S fovm sgRa Tifeal &, Th o 98 fova

TRl U199 &g &9 TR 3 |
T 319 TeU MU e 9 Fgad & ? 379 I o g § T hRul ¢ |

“GUR shAT o I hHI AT H, YA TLHR A T HHH dATet AT

ITSHHT o1 TS TehuT i o1 ot forar o |

AT 37T TU T U T TgHd & 7 319 IR o THYT | W1 b ¢ |
3

Y & H AN Fort 7T fly GuRE Y STTaverehal 9 YR <hl ST e |

“aTfeles gur S7afy § sfenfies & 9 e wei foam o |7

feu T4 e <l e |
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32. (a) Study the following chart of Employment and Gross Domestic
Product. Analyse the trend of the two variables between 1990-2012. 3
Growth of Employment and Gross Domestic
Product. 1951-2012 (%)
10
; A
8 / 78
7
5.7 5.8 6.1 6.1
6 |
5 e \
4 3.6 4.9 oo /‘,4.8 \34/
1T & ‘\ 2‘8/"0'7 \0/
3 M 199 184 173 189 W 2.28
. M&s L mll2
0 I 0|85 1 I I | | I I | %8 1
1951-56 1956-61 1961-66 1968-74 1974-79 1980-85 1985-90 1990-92 1997-2000 1999-2005 2005-10 2010-2012
~-GDP - Employment

For Visually Impaired Candidates :

Explain why are regular salaried employees more in urban areas

than in rural areas. 3

(b) Define Worker — Population Ratio. 1

o
b

(a) (1) “Indian economy has certain advantages, which have made it a
favourite outsourcing destination.”

Do you agree with the given statement ? Give valid reasons in
support of your answer. 3

(11) “In the post-reform period the government of India decided to
privatise profit making Public Sector Undertakings (PSUs). 3

Do you agree with the given statement ? Give valid arguments

in support of your answer.
OR

(b) (1) Explain the need and type of land reforms implemented in the
agriculture sector. 4

(1) “Industrial sector performed poorly in the economic reform
period.”

Elucidate the given statement. 2

58/5/1/RR5SP/22 P.T.0.
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34. frafeiiad eI 1 eHgdeh 375 i :

TRA 3 2030 T TY 1 ‘e Jetar’ (Carbon Intensity) sl ST 45% T HH Hid
H A W 2 | 39 99 A & fofu Ra o’ (Green finance) T Tgqul firest
farar 2 | Trfrer =run 1 gia fod ol IR @ 92 WichTed <hl 3TE9Iehdl @ | WIRd 9Tk
a3 25,000 Eh_a@ EIRtOISEIR ) UgaH <hl %, ﬁl% Hﬂﬁ g EIS (Sovereign
Green Bond) st 31 & for qifva fepan smaem |

fora oot g STHIfed T % 3THER "9y BRd 18 (Sovereign Green Bond)
TR 1, Ty Uied, Wes qNeed, TRuE 9 o SFAARIY Ja6- qU1 Jguu
foremror Tfgd wrestfen qiESTTST o oo W e Shiga |

g fod v S et el i ot alwl @ @ fra g 2 | 98 3= fahe
TiEofi Argel 3R fafemi o1 9Tel % Td 38 YehR TvTfad Uil & S § TRl
T ThAT & | Fad_ foehTd TS 1 STM 1ol SHaERI < e I3 § gfg 2t & | T1eh
U wiiel ol e hld & S T8 Helq foreht® Teai i 31T & | gl fort gr w=iia St
FIE SR 3 Haq T vome ft I ArTa s, a6l Amved § 9hg
3ATfe H TR L € |

— The Economic Times, 319 22, 2023 (Hmfer)
fem e Ty e AT THg o YR W AEfaRad g % 3w S
(a) aq foehra o1 aReiyd = |
(b) UEHT WIS TS &1 1 3GTeT <, STal 89y 8Rd o718 (Sovereign Green
Bond) HfZd & 7
() @i foa & cxamm Fa emfa g g 8 7

58/5/1/RR5SP/22 Page 22



QLRUEEEICECOEEEIEEEOOEEEEEEOEEEIEELOEEOEIOEOEOOEOCCICEE)

34. Read the following text carefully :

India has aimed to reduce the country’s carbon intensity by approximately
45% by 2030. To achieve this ‘Green finance’ plays a vital role. At the
initial stages, green finance needs a big push from the government. The
Indian government has identified projects worth ¥ 25,000 crore that will

be financed by proceeds from Sovereign Green Bonds.

According to the framework approved by finance ministry, the sovereign
green bonds will focus on financing public projects including renewable
energy, climate change, clean transportation, sustainable water and

waste management and pollution control.

Businesses that take green finance can get benefit in various ways. It can
help them follow different environmental norms and regulations and thus
avoid possible fines. Adopting sustainable developmental practices
enhances brand value of businesses. Customers tend to prefer brands that
adopt clear sustainable development practices. The energy-efficient and
other sustainable development practices promoted by green finance also

often help in saving cost, boosting profitability of businesses etc.
— The Economic Times, April 22, 2023 (Modified)

On the basis of given text and common understanding, answer the

following questions :
(a) Define sustainable development. 1
(b) State the public project areas, where Sovereign Green Bond are focussed. 2

(¢) How can businesses get benefit from green finance ? 3
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